Page 1 of 10
gfad gsi ! o ¥/ Total No Of Printed Pages: 10

RHTY] St Rreror wwr

ATOMIC ENERGY EDUCATION SOCIETY

(&8 IEIGIRED URA&T 11— TERM I/ PERIODIC TEST IT EXAMINATION : Practice Paper-I

D&/ Class : X 3aell/ Duration: 3Hours
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qHY iiléQl/ General Instructions :

Details and instructions :

1. 15-minute prior reading time allotted for Q-paper reading.
2. The Question Paper contains FOUR sections-READING SKILLS, WRITING SKILLS,
GRAMMAR and LITERATURE TEXTBOOK.

3. Attempt questions based on specific instructions for each part.

SECTION A : READING SKILLS (22 marks)

I. Read the following passage 12 m

A.

Can you imagine a college without walls, professors or classrooms? Educator Bunker
Roy can. More than 40 years ago, Roy, now 79, founded the Barefoot College in
Tilonia, Rajasthan. His school admits rural women, often grandmothers and teaches
them the basics of solar engineering and freshwater technology. His efforts have
yielded enormous benefits. When the women return to their homes, they are trained
enough to provide their communities, some of the world’s most lonely places, with
electricity and clean water. They also gain something important: a newfound self-

confidence.

The Barefoot model has already been used to empower women throughout Asia,
Africa, and Latin America. Former President, Bill Clinton presented Roy with a
Clinton Global Citizen Award, which honours leaders who are solving the world’s
problems in effective ways. If you go all over the world, to very remote villages, you
will often find only very old people and very young people. The men have already left.

So two ideas were put into practice in order to make the Barefoot Model work.
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First it was declared that men are untrainable, restless, always ready to move,
ambitious, and they all want a certificate to show for their efforts. And the moment you
give one of them a certificate, he leaves the village looking for a job in the city. That is
how, the simple, practical solution of training grandmothers came up. They are
sympathetic, tolerant, willing to learn, and patient. All the qualities you need are there.
And the second idea was not to give out certificates. Because the moment a certificate
is given, a woman, like a man, will see it as a passport for leaving rural areas and going

to urban areas to find a job

Barefoot College follows the lifestyle of Mahatma Gandhi: Students eat, sleep, and
work on the floor. They can work for 20 years or they can go home the next day. As of
today, 604 women solar engineers from 1083 villages in 63 countries have been
trained. The engineers have given solar power to 45,000 houses. These were done by
women who had never left their homes before. They hate the idea of leaving their
families and getting on a plane. When they reach India, sometimes after 19 hours of
travel, they are faced with strange food, strange people, and a strange language. All the

training is done in sign language.

Yet in six months, they will know more about solar engineering than most university
graduates. Some women face problems at home for attending college. Most of the
husbands do not like their wives going to these colleges and tell them not to come back
if they do so. But, on her return when she is able to help provide her village with solar
electricity, her husband wants her to get back home. The respect she now has is
enormous and she considers herself no less than solar engineers. Bunker Roy dreams
of providing the world’s 47 least developed countries with Barefoot College trained

grandmothers and solar electrify more than 1,00,000 houses.

Answer the following questions, based on the passage above.

1.

Why did the promoter of Barefoot Model decide to train grandmothers? 1
(a). Men do not want to be trained.

(b). Grandmothers were patient, willing to learn and tolerant.
(c). Men are lazy, want to make money.

(d). Men and women are not skilled.

ii.

How is Barefoot College different from other colleges? Whom do they admit in | 2

the college?

111

What did the women gain from the college apart from technology? 1
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1v. What are the difficulties the women have to face during their travel and their 2

life in Tilonia, Rajasthan?

V. Find a word from the passage which mean the same as the following: 1

(i) many/great in size (para A)

vi. Find a word from the passage which is an antonym of ‘enslave/subjugate’(para | 1
B)
Vii. The attitude of the husbands to their wives on their return from training is 1

different because

(1). of the respect they gain from the villagers
(ii). they were away for a long time

(ii1). they will again be looked after

(iv). they will not go back

Viii. What is the narrator’s dream about solar electrification? 1
iX. How do the women consider themselves professionally, after their training? 1
X. Assertion: The Barefoot College model effectively empowers rural women by | 1

training them in solar engineering and freshwater technology, which has led to
significant improvements in their communities.
Reasoning: The Barefoot College trains grandmothers instead of younger men
because grandmothers are more likely to remain in their villages and use their
skills locally, avoiding the common problem of trained men leaving for city
jobs.
Choose the correct option:
A. Both Assertion and Reasoning are true, and the Reasoning is the
correct explanation for the Assertion.
B. Both Assertion and Reasoning are true, but the Reasoning is not the
correct explanation for the Assertion.
C. The Assertion is true, but the Reasoning is false.

D. The Assertion is false, but the Reasoning is true.

2. Read the following passage and answer the questions that follow. 10M

A. | Reduction in green areas has caused various environmental problems. People squeezed
between concrete structures are looking for various ways to meet their longing for green.
One of the ways to do so is through vertical gardens and green walls. Vertical gardening is

a unique method of gardening where plants are grown in a vertical position or upward,
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rather than in the traditional method of planting them on the ground.

The purpose of vertical gardens and green walls, which arises from the studies of different
disciplines (landscape architects, architects, engineers, etc.), is to close the cold image of
concrete and increase its visual value. In these systems, nature and structures are

integrated, and thus, urban areas and the desired environment have become intertwined.

Vertical garden case studies often show that, though functionality should be in the
foreground, when vertical gardens are planned, they are generally made as aesthetic
elements in the city’s underpasses and city squares, and decorative elements in residences,

without seeking functionality.

Experts support that the visual quality and evaluation of landscape architecture is
determined based on the satisfaction of the users. Hence, a survey questionnaire was
prepared for residents of varied age groups from of a metropolitan city. The given Table 1,

displays these responses:

Table 1- Total number of participants :400

No. | Survey Statements Strongly | Agree | Neutral | Disagree | Strongly
agree Disagree

1 Improve quality of life of | 191 138 43 9 19
people in urban areas

2 Reduce noise pollution 128 164 77 25 6

3 Increase air quality 172 147 51 28 2
indoors and outdoors

4 Reduce energy and water | 58 47 125 68 2
consumption

5 Positively impact global | 114 144 106 30 6
warming

6 Have a calming and 161 177 44 7 11
relaxing effect

7 Cost too much 86 107 152 42 13

8 Make plants look 195 139 44 6 16
beautiful

9 Add naturals to the 135 173 55 25 12
environs

10 | Determining factor to 59 133 141 54 13
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visit a place
11 Are inconvenient indoors | 9 84 123 126 48
12 | Can be applied in any 71 132 97 77 23
place
13 | Have a functional feature | 81 207 100 10 2
14 | Distract drivers 34 101 106 131 28
15 | Funds are best use for 57 72 100 130 41
social issues

Answer the following questions, based on the table above.

I Complete the following analogy appropriately, based on your understanding of 1
paragraphs 1 &2.

We can say that the situation of people living in concrete structures is
comparable with a fish living in a fishbowl, and the need for vertical gardens to

the need for decorations in the fishbowl because

Ii Justify the following, in about 40 words. 1
While the survey results suggest that vertical gardens may be effective in
improving the quality of life in urban areas, further research and evaluation may

be necessary to fully understand their effectiveness and potential drawbacks.

1 Select the option that correctly displays what ‘interwined’ signifies. (reference — | 1
para2)
(1) (i) (iif) (iv) V)

1. (1), (iv) and (v)

2. Only (i)
3. Only (iii)
(i1) and (v)

v Fill in the blanks with the appropriate option from those given in brackets, based | 2
on your understanding of para 2.
The statement that urban spaces have become more closely connected with the

desired natural surroundings through the incorporation of nature and structures
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in vertical gardens and green walls is a (fact/ opinion) because it is a

(subjective judgement/ objective detail).

v Which of the following is the main takeaway from the study mentioned in the 1
passage?
A. Vertical gardening has minimal impact on the environment or human well
— being.
B. Vertical gardening is a sustainable practice that can transform urban
spaces into green areas.
C. The impact of vertical gardening on the environment and human well
being has already been thoroughly explored.
The study needs to include experts from horticultural firms to offer any

recommendations for further research.

Vi | Based on the survey results, which concern should a city government, looking to | 1

install vertical gardens, address?(any one concern)

vii | Infer one benefit and one drawback of vertical gardening in comparison to other | 2

solutions, such as community gardens or parks. (40 words)

viii | The antonym of the word ‘agrarian or rural’ is ............. (para D) 1

SECTION B : WRITING SKILLS (22M)

3 | Write an e-mail to the principal of your school, seeking permission and 3

requesting for Resources and Support for 10th Grade Farewell Celebration.

From:

To:

Cc: dpsoffice@school.com
Date : Sept 13, 2024, 07:03 PM
Subject:

4 | Write a brief description of your best friend in minimum 100 words using the 4

following hints.

Daniel Samson — belongs to a noble family — father Professor — mother —
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Principal — well behaved — respectful — ready to help — intelligent — an orator —

trustworthy — popular — among class fellows — feel pride — associated with him.

Sa

You are the Librarian at Devi charitable school, Lucknow. Place an order of
school books and other story books for the school library with Chitrakoot book
shop, Mall road, Lucknow. (word limit -120 words).

OR

Sb

You are Rajat, Rani, a student of Class XII and wants to pursue a course in Mass
Communication. Write a letter in 120-150 words to the Dean, Institute of Mass
Communication, University of Delhi, seeking information about the course
admission procedure, eligibility criteria, fee structure, hostel facilities, placement

opportunities, etc.

6a

High-tech devices in modern society has revolutionized communication and
productivity. However, the potential negative effects, such as health concerns and
environmental impacts are alarming.

Using your own ideas and those taken from the unit “Science”, write an article in
180 words, describing both the benefits and harms of using these high-tech
devices. Conclude with suggestions on how to mitigate these harms and promote

the responsible use of technology.

OR

6b

On the occasion of World Health Day, write an article in about 150 words for the
school news-letter on the topic, ‘Importance of Physical Health in Our Lives’,
using the clues given below.
Hints:

o Healthy mind lives in a healthy body.

e Lack of time for physical activity because of the demands of modem

lives.
o Ignoring the health increases the risk of many diseases.

o Discipline is the key to resolving these concerns.
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SECTION C : GRAMMAR (10 marks)

7

Complete the tasks A-C, as directed.

A

Fill the blanks (i) -(ii1) with the appropriate option from those in the brackets.

3

Two friends were walking (a)
of the journey they had an argument, one friend slapped the (b)

neither ) one on the face. The one who got slapped (c)

without saying any thing wrote in the sand.

( through/ from / by ) a desert. During some point
(‘another / other /

(were / is / was ) hurt, but

B | In the following passage one word has been omitted in each line .Write the | 4
missing word, in any four sentences of the given paragraph, along with the word
that comes before and the word that comes after it in the space provided .
No. | Text Before | Missing word | After
(1) | Himachal Pradesh a good place for Eco Camp.
(ii) Pine Hill Eco Camp is one of ecotourism
resorts
(iii) | near Barog Himachal Pradesh. Ecotourism is
(iv) | gaining popularity each passing day as more
and more people want to get away from the
hectic schedules.
C | Do as directed. 3
(i) | Rearrange the following jumbled words/phrases in the given dialogue to | 1
create a meaningful sentence.
The use of renewable energy sources can significantly reduce our carbon
footprint. I agree. What are some examples of renewable energy sources?"
SOLAR ENERGY / WIND ENERGY / AND / HYDROPOWER /
EXAMPLES / ARE / OF / RENEWABLE ENERGY SOURCES.
(ii) | Report the following dialogue to complete the paragraph: 1+1

Manager: "We need to discuss the new project requirements in detail."
Employee: "When should we schedule this meeting?"

Manager: "We can meet tomorrow afternoon."

Complete the paragraph by reporting the dialogue:

The manager stated that they (a) . The employee inquired when they
should schedule that meeting. The manager replied that (b). the
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following afternoon.

SECTION D : LITERATURE TEXTBOOK (26 marks)

Read the given excerpts and answer the questions briefly, for ANY TWO | 4+4

excerpts, of the three, given.

Neither stones nor prayers nor sticks,
Insults or complaints or bricks
Stilled the frog’s determination

To display his heart’s elation. (The Frog and the Nightingale)

At whom the stones were thrown?

ii

The frog is determined to

iii

Which figure of speech is used in Line 1?

iv

|k | k[ ek

What is the rhyme scheme of the above extract?

VICTORIA: (after a moment s thought.): Are we pinching it before Aunt Elizabeth
comes?

HENRY: (shocked) No, my child. Grandpa gave it to your mother before he died.
VICTORIA: This morning?

HENRY: Yes.

What does ‘it’ refer to here?

ii

How does Vicky get to the conclusion that her parents are ‘pinching it’?

il

What does it say about the disparity between Vicky’s attitude and that of the

elders?

iv

The phrase ‘pinching in’ here means

The two boys were seated at the bedside of a girl of about 20, who propped up on

pillows wearing a pretty lace jacket, was listening to their chatter, her eyes soft and

tender.

Who are the two boys referred to here ?

ii

Where are the boys at present ?

iii

Who is the girl ?

iv

Why was she propped up on the pillows ?

| e [

Answer ANY FIVE of the following six questions in about 30- 40 words

5*%2
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each

Who was Ozymandias? What do the words written on the pedestal reflect about | 2
Ozymandias?

ii

What does the writer wish to convey via the use of the metaphor for a false 2
friend in the given line from The Letter?
...the cold used sleep to extend its sway over all things even as a false friend

lulls his chosen victim with caressing smiles.

il

What does Mrs Jordan describe as a fatal mistake? What is the irony in the 2

comment she makes on Mrs Slater’s defense?

iv | Why did Mrs. Packletide decide to give a party in honour of Loona Bimberton | 2
? What did she plan to present Loona on her birthday ?

\4 How will the poet’s friend and patron find a permanent place in the hearts of 2
coming generations and lovers ? (Not Marble Nor the Gilded Monuments)

vi | Whom did the mariners blame for such an omen condition? How did they 2
punish him?

10 | Answer ANY ONE of the following two questions in about 150 words. 8

A | In both "The Dear Departed" by Stanley Houghton and Vikram Seth's poem '"The
Frog and the Nightingale," the themes of manipulation and exploitation are central.
Compare and contrast how manipulation is depicted in both works.

OR
B |Only the bearer knows where the shoe pinches®. Elucidate the statement with

reference to the story The Letter.
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Wﬁ%ﬂ / General Instructions:

i) This paper is divided into four sections:

Section A — Reading 22 marks

Section B — Writing 22 marks

Section C —Grammar 10 marks

Section D — Literature 26 marks

ii) All questions are compulsory.

iii) Separate instructions and options are given with each section and question, wherever
necessary. Read these instructions very carefully and follow them.

iv) Do not exceed the prescribed word limitwhile answering the question.

v) Do not attempt questions more than what is asked.

vi) Marks are mentioned for each question against it.

SECTION A : READING SKILLS (22 Marks)
I) Read the passage given below and answer the questions that follow.

1. Orangutans require less food than humans. When they do eat, orangutans nibble mostly on ripe
fruit, along with smaller portions of leaves and seeds. Even in captivity, this diet doesn’t diminish
an orangutan’s energy. They wake up early, after a long night sleep, spending the day socializing,
exploring enclosures, and playing games with researchers. These activities collectively amount to
the exercise level of humans in demanding agricultural lifestyles.

2. In the wild, orangutans inhabit the rainforests of Borneo and Sumatra, facing highly variable and
unpredictable food availability. Similar to fresh garden fruit, their sustenance alternates between
feast and famine. However, this comes with a drawback:their low energy levels limit growth and
reproduction. Consequently, orangutans exhibit slow development and reproduction, posing an
evolutionary risk as they might not survive to pass on their genes. In contrast, human mothers can
bear children every two to four years, whereas wild orangutans reproduce only every seven to eight
years.

Page 10of7



3. Orangutans are among the most intelligent primates; they use a variety of sophisticated tools and
construct elaborate sleeping nests each night from branches and foliage. These apes have been
extensively studied for their learning abilities. There may even be distinctive cultures within
populations. Both orangutan species are considered to be endangered, with the Sumatran
orangutans being critically endangered. Humans’ activities have caused severe decline in the
populations and ranges of both species. Threats to wild orangutan populations include poaching,
habitat destruction, and the illegal pet trade. Several conservation and rehabilitation organizations
are dedicated to the survival of orangutans in the wild.

4. We will lose much information about our closest relatives and our own evolutionary history if we
let them get extinct.

Answer the following questions, based on the passage above: (12 Marks)
(1) Orangutans primarily consume: (1)
(A) Meat and vegetables (B) Ripe fruit, leaves, and seeds
(C) Processed foods (D) Dairy products

2) Explain how the slow growth and reproduction of orangutans could be evolutionarily risky. (2)
3) Arrange the following events in the order they are mentioned in the passage: (1)

(A) Orangutans’ intelligence and tool use

(B) Threats to wild orangutan populations

(C) Orangutans’ daily activities and diet

(D) Comparison of orangutan and human reproduction patterns
4) What is the main reason orangutans are active even with their low-energy diet? (1)

(A) Their high metabolism (B) Their natural agility

(C) Their engaging social activities (D) Their adaptation to captivity

5) Which word from the passage refers to “a situation in which there is either an abundance or

scarcity of something”? (2)
6) What is the primary reason for the decline in orangutan populations and ranges? (1)
(A) natural disasters (B) Climate change
(C) Human activities (D) Disease outbreaks
7) Orangutans’ slow growth and reproduction are attributed to their.............. (Complete the
sentence based on the inference of the passage.) @)
8) Explain why the low energy levels of orangutans pose an evolutionary risk. (1)

9) State whether the following is True or False: Both species of orangutans are endangered,

with Sumatran orangutans classified as critically endangered. @)
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10) After which paragraph of the passage, would the following paragraph most likely be

placed?

Orangutans hold a special place in the study of evolution and primatology due to their
remarkable genetic usage, and problem-solving skills, providing valuable insights into our own
evolutionary past. Protecting orangutans from extinction is not just about preserving
biodiversity but also safeguarding the invaluable knowledge they provide about our closest

relatives and our role in the natural world.

Il. Read the table given below and answer the questions that follow:

NAME

Aryan

Priya

Rohit

Sunita

Meera

MOTTO

“For the
people”
“Progress  for
all”

“A Better
future”

“Equality and
justice”

“Sustainable
development”

SPENDING
(INR)

10,000,000

15,000,000

20,000,000

25,000,000

30,000,000

AGENDA
ELECTION

Education
reform

OF

Infrastructure
development

Job creation
and economic
growth

Social welfare
programs

Environmental
protection and
green energy

Answer the questions based on the above table:

1) Describe the agenda of election and mode of campaign for Aryan and Priya according to the

table.

2) Which contestant has the motto “A better future”?
(A) Aryan
(C) Rohit

(B) Priya
(D) Sunita

MODE OF
CAMPAIGN

Social
media

Rallies and
speeches

Door-to-
door

TV and
radio adds

Flyers and

posters

(10 Marks)

SUPPORTERS
Youth

Business
community

Working class

Women
minorities

1)

and

Environmentalists

2
1

3) Explain how the spending and supporters of Rohit and Sunita compare according to the table.

4) Aryan : “For the people” :: Meera :

5) Which contestant has the highest spending according to the table?

6) According to the table, the agenda of election for Meera is

2

1
1
1

7) Explain how the motto, Spending, and supporters of Rohit are represented in the table. 1

(A) Rohit’s Motto is “A better future”, his spending is 20,00,000 INR and his supporters
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are the working class.

(B) Rohit’s motto is “Equality and justice”his spending is 25,00,000 INR, and his
supporters are women and minorities.

(C) Rohit’s motto is “Sustainable development”,his spending is 30,00,000 INR, and his

supporters are environmentalists.

8) Match the following contestants with their mode of campaign: 1
(A) Aryan - 1. TV and radio ads
(B) Priya - 2. Social media
(C) Rohit - 3. Rallies and speeches
(D) Sunita - 4. Door -to- door campaigning

SECTION B : WRITING SKILLS (22 Marks)

I11) You purchased a refrigerator from M/s Om Sai Electronics, Ankaleshwar, Gujarat. Since the
refrigerator is now not working properly, write an email to the company asking for its replacement
immediately. (3)

You may copy the given template to write your email.

From:

To: omsaielecqguj@gmail.com
Cc:

Date: 11 September 20XX
Subject:

IV) One day you were commuting in a DTC bus. Unfortunately, your wallet was left at home. The
conductor gave you the ticket for free. You are moved by his gesture. Describe him in 80- 100
words. (4)

V) Inspite of the Government’s initiatives and provisions made for the girl child, the statistics
shown in the enrolment position of girls in primary and upper primary are not very encouraging.
Write a letter to the editor of a national daily, expressing your concern about the issue and the need

to work on a war footing to counter the problem of poor enrolment of girls.

(7)

OR

You are the in-charge of the Medical Section of Saraswati Public School, Mayur Vihar, New Delhi.
Your stock of medicines is about to finish. Write a letter to the Director of Fine Health Medicare,
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Delhi, ordering medical items like glucose, crocin, bandages, tincture, pain healers, ointments, etc.
Ask for discount on bulk order. Invent other necessary details.(100 - 120 words)

V1) India is a tourist’s dream destination. Give your views on the tourism potential of India in an
article in 120-150 words. You are Naveen/ Navita. (8)

You can take help of the following cues:

Place of worship — religious tourism
Foreigners- places of historical interest
The rich — hill stations during summers
The sun-kissed beaches in winters
Leisure tourism

Medical tourism

World class hospitals

VVVYVVYVY

OR

When children watch TV, the adults generally scold them without realising that some programmes
on TV can be educative too. Write an article in 120-150 words on ‘TV as a Tool of Instruction’. You
are Naveen/ Navita.

You can take help of the following cues:

» Educational importance
» Updates in current affairs
> Live telecasts
» Tool to learn languages
SECTION C : GRAMMAR (10 Marks)

VI1) Complete the tasks from A-C as directed:
(A) Fill in the blanks (i) — (iii) with the appropriate option from those given in the

brackets. 3

Shravan was only nine years old, but (i)................. (a/the /an/some) mountain of family

responsibilities had already(ii) ............... (descend/descending/descended/descends) on

(). (his /her/their/its) head. So, he has become a responsible man.

(B) Edit the following passage. There is one error in each line. Write the incorrect word and the

correction as given in the example against the correct blank number. 4
Incorrect Correct

Neil Armstrong was the commander for Apollo 11. e.g. For Of

He was the first to walk over @)

the moon. What many people do not knew (b)

is that unlike most of their fellow- (c)

astronauts, he was the civilian (d)

and not part of the military.
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(C) Look at the word and phrases below. Rearrange them to form meaningful sentences. (3)
1. a holy/ the Indians/ the Ganga/ regard/ to be/ river
2. glacier/ the /of / the Ganga/ the Gangotri/ source /is in
3. to form/ at / Prayag/ it is/ the Saraswati and / joined by/ the Yamuna/ the Triveni Sangam
SECTION D: LITERATURE (26 Marks)

VIII) Read the given excerpts and answer the questions briefly. (Do any two excerpts out of the
given three) (4+4=8)

(A)
“The Wedding-Guest he beat his breast,
Yet he cannot choose but hear,
And thus spoke on that Ancient man,
The bright-eyed Mariner.”
(i) Give reason why did the Wedding-Guest beat his breast.
(i) Why can the Wedding-Guest not choose but hear?
(iii) Why is the mariner referred to as bright-eyed?
(iv) Name the poem.
(B)
The postmaster was beginning to lose his temper. “Have you no sense?”” he cried.

“Get away! Do you think we’re going to eat your letter when it comes?”’and he walked off hastily.
Ali came out very slowly, turning after every dew step to gaze at the post office. His eyes were
filled with tears of helplessness, for his patience was exhausted, even though he still had faith. Yet
how could he still hope to hear from Miriam?

Ali heard one of the clerks coming up behind him, and turned to him.
(i) The postmaster was beginning to lose his temper. Give reasons.
(it) Ali was upset.Quote the words/phrases which convey this?
(iii) What was it that Ali had still not lost?

(iv) What does the word ‘exhausted’ mean?
©

No, if I’'m not to have him you shan’t either. We quarrelled because Elizabeth said she wouldn’t
take you off our hands at any price. She said she’d had enough of you to last a lifetime, and we’d
got to keep you.

(i) Who is ‘I’?
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(i) Who does ‘you’ refer to?
(iii) Why is there a quarrel?
(iv) Who had got to keep the old man according to the speaker?
IX) Answer any FIVE of the following six questions in about 30-40 words each
(5X2M = 10M)
(1) How did Louisa Mebbin manage to buy the pretty weekend cottage?
(Mrs. Packletide’s Tiger)
(if) What was Ali’s profession when he was young? How did his life took a turn?
(The Letter)
(ii)Why does Mrs. Slater decide to shift the bureau from grandfather’s room before the
arrival of the Jordans? (The Dear Departed)
(iv)“Pen is mightier than sword”. Elucidate with reference to the poem ‘Not Marble Nor
the Gilded Monuments’.
(V)In the poem, ‘Ozymandias’, the poet says, ‘the hand that mocked them, and the heart that
fed’. How does the hand ‘mock them’?
X) Answer any ONE of the following two questionsin about 150 words. (8)
(A) How do both the poems, ‘Ozymandias’ and ‘The Frog and the Nightingale’ address the
theme of power and its impact on the individual?
OR
(B) “You’d never guess in the world. It’s the duckiest, darlingness’ Ouija board and so
cheap! | got it at a bargain sale. Why, what’s the matter, John?”
After reading these lines you fell that people are crazy for novel and unusual things.

Express your opinion on the intrinsic value of fads (fashion) in life.
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fasg/Subject :English AHTAHTA 37H/Maximum Marks :80

AT fA&er/General Instructions:

1.

2.

The question paper contains FOUR sections — READING SKILLS, WRITING
SKILLS, GRAMMAR AND LITERATURE TEXTBOOK.
Attempt question paper based on specific instructions for each part.

SECTION A: READING SKILLS (22 Marks)

1. Read the following passage and answer the questions that follow: (12)

1.

3.

In 1924, the two brothers inherited their father’s craft and opened Dassler Brother’s
Shoes Factory in the town. Very soon, by virtue of learning from their father’s
outstanding shoe making craft over years, a different style sole was invented by them.
They nailed some pegs into soles so as to keep from slip. Despite of being odd, they
did more than most when people wore slippery shoes. With this kind of shoes being
popular in the town, some of the residents from surrounding towns began to come to
order these shoes.

For the bigger market, the little brother Adolf came up with a marketing idea that let
customers try for free. This kind of commercial sales had never been heard at that
moment. After a month, with the experience of trying, the customers all flooded into
the factory. Some of them bought the shoes at once and some continued to order .Since
that, Dassler Brother’s Shoes Factory won the big market.

At that time, the German people were very fond of soccer, even though sports were not
popular at all. Their mania to soccer was matchless in the world or even could be

described as demoniac. Consequently, a good pair of soccer shoes became almost all

1



the German people’s dreams. Dassler brothers had a keen business sense even when
they were only children, and they began to study again in the factory and design
football shoes at once. The very simple design may seem outdated today, but at the
time they were totally new and advanced design.

4. Several years later, the brothers built a bigger shoes factory and began to sell to the
whole Germany. The new factory was named as Adidas Factory which was the
Predecessor of today’s famous Adidas. In the third and fourth decade of the 20"
century, the brothers’ shoes became well known in large areas and they kept enlarging
their business. Especially, the track and field star Jesse Owens wore the spiked shoes
made by Dassler brothers and got four championships in the 1936 Berlin Olympic
Games. This set the whole sporting world on fire and Dassler brothers’ name were
known by more and more people. Today it is one of the top brands in the world. They
make shoes for all ages.

5. With research and innovation, they have ensured their presence in the market. One will
find Adidas outlets in all the major cities across the world.

6. They keep coming up with new designs and each time they introduce a design the
older ones are sold for lesser prices. This way they maintain customer flow in the

stores. To survive in the competitive world making changes is the key to success.
Answer the following questions, based on the passage above:

(a)Choose the correct option for the following statement. @

The first new thing that Dassler brothers brought into shoemaking was--------------- .

(i)Made the soles heavier (ii) embedded nail pegs on soles
(iii)Made soles of rubber (iv) soles were kept light
(b)List two reasons for Dassler brothers gaining popularity. @)
(c) The marketing plan of the younger brother worked because ------------------- (1)
(1)) The plan was simple (i) people got discounts
(iii) The plan was unique (iv) people liked their shoes

(d) After which paragraph do you think we could place the following lines. 1)

Dassler brothers may not be alive today but the company they started is still around. It is a
public limited company, but no one can forget the brothers.

(e) Give two reasons for Dassler brothers capturing the German shoe market. (2



(f) Substitute the underlined word in the following sentence with a word /phrase from the
paragraph 4 that means the same. Q)

Dassler brothers kept expanding their business to other cities in Germany and other countries.
(g) “Flooded into the factory” in the given context means--------------------- D
(i) water came into the factory (i) the factory had lots of shoes
(iii)the factory had unsold shoes (iv) the factory had many people
(h) Change the following appropriately. (1)
They keep coming up with new designs means----------------------

(i) Complete the sentence appropriately. (@D)]

The title “Adidas Shoes” is given to the passage it is inappropriate as compared to the title
“Success Story of Dassler Brothers” because

(j) State whether the given assertion is TRUE or FALSE. 1)

The brand Adidas became popular after the 1936 Olympic Games.

2. Read the following table displaying the details of various skills of five students.(10)

Name of | Participation and Team Building skills | Comprehension Preparedness
the communication /Reasoning skills for sessions
students | skills
Often presents Participates regularly | Understanding of
Kavya ideas clearly. in activities. concepts is Always well
Regularly asks Does not give others | demonstrated by prepared for
questions. the opportunity to applying and linking to | sessions.
speak and interrupts | concepts .
others. Reasoning
independently.
Navya Constantly presents | Organises the group | Understanding of Well
clear ideas with Asks for feedback concept is prepared for
demonstration of from the group. demonstrated clearly. sessions.
listening. Shows empathy. Draws valid
Regularly asks conclusions from data
questions to with a little guidance.
stimulate
discussions.




Saumya | Occasionally asks Participates Understanding of Prepared for
questions . in most of the concepts is most learning
Occasionally activities. demonstrated with a Issues.
presents ideas Volunteers to little guidance.
clearly. perform tasks. Draws reasonable
Responds to conclusions.
verbal/non-verbal
cues.

Occasionally asks Rarely participates in

Pakhi questions . activities. Understanding of Prepared for
Occasionally Takes up task only concepts is only certain
presents ideas when asked by demonstrated with learning
clearly. others. considerable guidance. | issues.
Responds to Draws reasonable
verbal/non-verbal conclusions.
cues.

Tanvi Rarely asks Rarely participates in | Understanding of Prepared for
questions . activities . concepts is not only certain
Rarely responds to | Takes up task only generally learning
verbal/non verbal when asked by demonstrated. issues.
cues. others. Often seeks

clarification of
concepts.

Answer the following questions, based on the table above.

(a) Based on the communication skills of the students, which student is most likely to

struggle during the annual speaking assessment? Support your choice with one valid

reason.

(b) Which student is most likely to lead group discussions?

()Kavya

(iii) Saumya

(i1) Navya

(iv) Pakhi

@)
1)

(c) Give two justifications for Navya being the best fit to be a “ Competent Leader” in a

group activity.

(2)

(d ) Select the option to fill the blank and complete the analogy in the context of

“Comprehension/ reading skills”.

(i)

Kavya

(iii)  Pakhi
(e) Complete the given sentence with the appropriate reason, with reference to the

(i) Navya

(iv) Saumya

- outstanding::Saumya : satisfactory

information provided in comprehension/ reading skills column.
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We can infer that Saumya’s comprehension / reading skills are better than that of

Pakhi because

(f) Explain briefly why Kavya is likely to be unwilling to acknowledge other students’ views
while working on a project as a team leader. (D)

(g) The students’ teachers are committed towards improving the performance of the students
who lag behind in most of the skills. There is an arrangement of special classes for such
students after the school hours. Identify the students who would be selected to attend the

special classes.

1)
(h)Select the option that correctly matches the students’ performance in their preparedness for
sessions. (1)
(A) Pakhi (1) Outstanding
(B) Kavya (2) Unsatisfactory
(C)Saumya (3) Satisfactory
(4) Marginal
(i) A-1; B-2; C-3 (ii) A-4;B-2;C-4
(iii) A-4; B-1; C-3 (iv) A-2;B-4;C-3

SECTION B: WRITING SKILLS (22 Marks)
3. Write an e-mail, in about 50 words, to the Principal of your school, requesting him/her to

change the bus timings. Give a suitable reason for this request. 3

From

To

Cc

Date:

Subject:

4. Write a factual description on your new Yoga Teacher, in about 100 words. 4)

5. (A) Write a letter in not more than 120 words to Delhi Sports, New Delhi, placing order for
sports articles (minimum 4) to be supplied to your school. Sign as Ravi/ Sheela, Sports
Secretary, LPS Delhi. @)

Or
(B) You are a resident of Kamala Colony. There have been incidents of chain snatching in

your locality in the past 2-3 months. Your resident welfare association took it up with the
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local police station requesting patrolling in the area after 6 p.m. and surprise checks both of
which have not happened. Write a letter to the editor of the local newspaper highlighting the
attitude of the police authorities. You can take ideas from your MCB Unit 4- Environment.

6. (A) Technical gadgets have brought about a sea change in our life. Some are the people

enjoy using them, while others find them useless and harmful. As, Sam of class X A, write an

article in about 150 words, highlighting advantages and disadvantages of technical gadgets for

your school magazine. Use the given cues, along with your own ideas and those you may have

gathered from MCB Unit 3: “Science,” to create this article. (8)
Technical Gadgets

Advantages Disadvantages
Improved the quality of human life. Creates a cut-throat competition.
Saves time. Human mind has been blunted.
Makes work easy. Has alienated from friends, family and nature.
Sharpens the human intellect. Has affected the food quality.
Result-oriented. Worsened the quality of life.
Or

(B) Health is very precious to us. Some say physical health is important while others give
importance to mental health. Write an article in about 150 words giving both the views for
your school magazine .You are Ram, studying in class X B. Take help of the points given

along with your own ideas and some taken from MCB Unitl: “Health and Medicine”.

e Man is blessed with body and mind.

e Healthy body is necessary for a healthy mind.

¢ Physical health gives strength and stamina to the body.

e Mind enables us to imbibe knowledge.

e Mental health enables one to differentiate between good and bad.
e Body is subject to ageing but the mind is not.

e Physical exercise is important to maintain a healthy body.

e Mental pursuits are important to keep mind healthy and alert.




SECTION C: GRAMMAR (10 Marks)

7. Complete the tasks A to C, as directed.

(A) Fill in the blanks (i) to (iii) with appropriate option from those in the brackets. (3)
Once a king (i) ---------------=-------- (ask) a hermit for a powerful Talisman.
The hermit (ii) ------------ (give) him aring (iii) ------------------- (contain) a folded slip and

asked him to open whenever he would face any problem.

(B) In the following paragraph, one word has been omitted in each line. In your answer sheets,
remember to write the missing word along with the word that comes before and the word that

comes after it. 4)

1. One night, Rahim lostwayashe ~ —memmmmmmem e e
2. was trudging along road. He caught ~ —-memmes mmeees
3.sight of a little gray cottage the roadside. ~ -=--=------ emmmmemeem

4. He knocked at the door to ask shelter for the night. -----------  ——emmemees commmen

(C) Do as directed.

(1) Rearrange the following jumbled words/ phrases in the given dialogue to create a
meaningful sentence. (1)

Arundhati: What do you play in the evening?
Leela: I play Lawn Tennis with my friend in the evening.
Arundhati: How do you win a point in Lawn Tennis?

Leela: APOINT/ APLAYER/MUST HIT/ TO WIN / EITHER BRFORE/ A SHOT/
THE BALL / OR/ HAS BOUNCED/ FIRST BOUNCE/ AFTER THE

(ii)Report the dialogues to complete the paragraph that follows. (1+1)

Doctor: How are you Sasha?



Sasha: I am good doctor. Look, I have brought a gift for you.
Doctor: What is it?
Sasha: It is a candlestick which I had got from Belgium.

The doctor asked Sasha how she was. She replied that she was good and asked him to look
at the gift that she has brought for him. On being asked (a) --------------- . She said that it
(b) ---------mmmmm-- which she had got from Belgium.

SECTION D: (LITERATURE TEXTBOOK) (26 Marks)

8. Read the given excerpts and answer the following questions briefly. (Attempt ANY TWO
excerpts of the three, given). (4+4=8)

(A) “Far too nervous, far too tense,
Far too prone to influence,
Well, poor bird- she should have known
That your song must be your own.”

(@) Do you agree with the frog’s statement? Justify your answer.
(b) Why did the other creatures not have any choice?
(c) How was the nightingale’s song different from that of the frog?

(d) Do you think that the frog is a fair judge of the other person’s song? Give reasons.

(B) He smiled uncomfortably.”Just plans sir”. He answered in a low voice.”Well,” I said,
“We’re leaving on Monday. Is there anything I can do for you before we go?”” Nicola shook
his head, but suddenly Jacopo said, “Sir,” he burst out. “Every Sunday we make a visit to the
country, to Poleta, 30 kilometres from here. Usually we hire bicycles. But tomorrow, since

you are so kind, you might send us in your car.”
(a) Who is “he” in the above lines?

(b)Why did he smile uncomfortably?

(c) What are the “plans” being talked about?

(d) What traits of Nicola are being revealed from the above extract?



(C) ABEL: “It didn’t take you long to start dividing my things between you”.

MRS JORDAN: No, father; you mustn’t think that. Amelia was simply getting hold of them

on her own account.

ABEL: You always were a keen one, Amelia. | suppose you thought the will wasn’t fair.
HENRY:: Did you make a will?

ABEL.: Yes, it was locked up in the bureau.

(&) Who speaks these words and to whom?

(b) What things are being referred to?

(c) Why did they start dividing the things?

(d) What is the attitude of Abel’s daughters towards him?

9. Answer ANY FIVE of the following six questions in about 30 to 40 words each. (5 x 2=10)

(a) What according to Shakespeare outlives the ravages of time?
(b) Explain why the wedding guest was stopped?

(c) In what way villagers helped Mrs. Packletide shoot the tiger?
(d) What do you get to know about the sculptor from the poem?

(e) What was Ali’s reason for giving up hunting?

() Why does Ozymandias refer himself as king of kings?

10. Answer ANY ONE of the following two questions in about 150 words. (8marks)

(A) Both the stories “Two Gentlemen of Verona” and “The Letter “teach us not to lose hope
and courage even in adverse situations. Write a letter to a friend justifying the statement with

reference to the stories.
OR

(B) Even though both, the frog from Vikram Seth’s poem, “The Frog and the Nightingale”
and Abel’s children from the play, “The Dear Departed”, display greed, there are differences.
Elaborate, in about 150 words, how the greed of the frog and that of Abel’s children differ in

motivation, actions, relationship and consequences.
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QIATO] FalT fraTor HEyr
Atomic Energy Education Society
eA-1/ 3mafts qfiat-1l Term-1/PT-1l Examination : Practice Paper-I

FaT1/Class: gHdt 3raf&/Duration: 3 &
fATa/subject: B=d1-3r (F13-002) HAFAH 3rH/Maximum Marks: 80

AT fade/General Instructions:
(i) 38 UT-99 # Fel IR T3S (F, T, 7, ©) ¢l
(ii) o=t & IR T v fAdelt &1 arelr I gU & faf@wl

(ili) FUrHHT FRAT & 3 HARER € faf@w|

Us-F (IS arer)
1. @ R 1T TIg@Tr F CAEYEF TEHF 3 W IMURG WAt F 3w ffw)

HRA # Thelgrel faTell 1 §gd a5 HHT ALl &, FIR AT HI FRA
3R TaTE FoT T 3R e & Hhoul & ded herd ATFHST o TST gRd
grsgiatel fART A FAor & &1 30 AR & AIH ¥ ARG Hl Foll-¥add Felle,
IfegaedT & YA & B B HFbd Fel 3N dhfoush SUaT & 3cdiesd, 3TN
3R T & v ARGF g 7 oot T AT 5

SHH Hcg el Toh [dhT T g I doif & 3TN dgat I HIfAA I JRA
AT ¢t & fov FaT & Targeed gfld LT Gad §37 aThdT &1 &5 HREE
oI, 3culeel S¢lel, orE-iIst Jamsit & faT AR Yer et §1 58 v
TITS Foll T HARASAT § Fieh 27 H IgeT-Srofer T docdt g5 AT H It
g F3l TUT g a¥ WER @R @9 fFv Sd §1 4R S & &9 7 yarfa @
&l &l 38 9hR STAdT &l Jed %Tﬂ?rgtfsm‘l TaTdeieel gifol foham ST "ehdT B,
A HT B WSS T Felehel ¥ 3H fohar Smw| %%Twa?a@?rgtf%
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gISSIole] TATo 34« ¢ 3R Uah aR &&Tdr g1l 8l & dig 398 37d HId dh
IIAT Foll UI$ ST Fehell €1 FIR S8A Fo GAEAT o §| qTT 375U 58

HSRUT 1 B| T§ 3Hcdd TAEHICH 81 & HNOT GEICAT T HRUT T Hehell o
35dle § USET gIgiolel ARG A sHd S[Sv Tt THEAS h1 GATT fAehrer

T SITUaT| FHAA §183IoTeT S¢eT I TEAT AT Il I 3TcTsddT T &7
TFCTETel IS Hehe 61 &1 HIN Foll hT it AT Hiel & HAST &I Yerar
ol &1 WH H dgc g TR A1 o wRaAT] fstel dhr X der ST ar
gISaold 34T AT TATS Foll & 31T Ahed TSTHIT ATV

(i) AR FI TITS FAT HI IATRAT FAT §7? (1)
(&) e Jglet 3R AR a1 e & fowy

(@) TaTE IATEROT & §eTaT &t & forv|

(a1) Far 9T T IMTRIhAN U He & AT

(&) AR AT I G F & U]

(i) R 39l Foll-caa F Fe TR WA F Thal &2 (1)
(&) Ugia-SIsTel A gfaefd i

(@) A HHAT 9T 9CIol-3IoTel 3T HIdThT

(31) Foll Tl Il e |

(5) 39T ST H UgiaT-3rofel deT aiehl

(iii) fFfaf@a FUat A @ HA-A1 FUT HTOE F HTET TG 87 (1)

() farereT @ gaeamstt &1 ga @t ol
(@) P T ued TooTall gl 39asY gl

(31) TTTT Foll & 3T Ahed @ ART

(&) SRA] fqSTell T B3 &1 =@V
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(iv) TSET gRa BT & 18 e 3eged faf@u| (2)
(v) FoT & &1F H gIS3Iolel 34T T T ALY g2 2)
2. @ @A T geFIr F CAAYEF TgH IH W HUNG WAl F 39 DI

g I &gar | AATHRR !
Hia-aidr ¥ w7g1 fohg
dH A @ foham @R |

g AH adr | AATHR |

STeT-shlelee ¥ g3 &el
T fAHAeT-ar fAar,
- &1 3T AT o
forca=r amott &1 grar geRrer |
FA-AHT & I W A &,
I8 H dded & faerd,
el # Be T,

al-gt =t & e |

Tg & o gl e,

g IEM I § UadT UR |

g I &adr | AHERR |

g 39T [SAH dhael §
Y EU $o ATT-Ts
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fSaer aehfar & &331 &,
Ig I 36 H & IS |
S & aifaeler @l =g A
AT, auT g a1 Tk 33 |
ST & S 8 JRERR,
ST 3T FT FHfdeA &3 |

39 #d g TA-gan |

g IH &Il | THATHR |
(i) fohameT &l Hfd o ‘Cadr F3T FeT g2 (1)
() THT-TET T FIHT 7 FoR IREH F F FRoT|
(@) FU-3T AA-ITHGT H IgeT aTell T U A & HROT|
@3T) VA-TEY & T W A & 97 & & HROT|

(5) 39T HAGSA T ool 39T F AR H U R & HROT|
(i) ToraTeT & 9R&#H &1 IROTH g- (1)

() I I YRT T edel glAT

(@) Wdl H IgA-9gel glell

(31) ST 1A FT - Wl H Feolen|

(') 9 &7 N & Feore

(iii) > & frareT & ATE & IR X arel FT Fel g7 (2)

(iv) foraTeT FOR &I Hid-A1 [ER & § 2 (2)
(v) ‘FreTeT T OIe-8 WX H FSe @l & g 19 Tt dfFaEt A mar g2 (1)
() AA-TE & FAE T
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gFe fAedr @ famar @R
(T) STo-hieled & g Fal
Terrehl T@HAT-AT foard|
(a1) IFF-AfY & 3T FET
TSra=tT Wit &1 grar gehre|
(&) it & arfaelier @ef =g &
aralf, awT & a1 6 33

Ts-@ (U8l 3CIgvn)

3. MEURER aFg-g W ImuRe Aeafaf@a ofg weal # & Bl IR weal &
W difaw)

(i) T 99T T IS T 3¢l fAf@u| (1)
(i) T5F A & 3k a= W ST § 37 el H gR gl &1 39 a1 Hl

HgFT g # FaRd ) (1)
(iii) ‘FETAR 9HTG gfAdET had Teh ATFd gl ¥ I Tk T€AT A|° 3 dreFg &l

W g 7 aRafda fifSwl (1)
(iv) ‘Sar g Gl Soif BT 3ieX Il 3T fhd IR & aeg g7 (1)
(v) U8 &I 3 ¥ AR fasrel o#e W Y frw geR &1 areg g7 (1)

4. fAEAER AT W IR AEafaf@a ata weal F & el R weat &
ELACIE LY

(i) 388 J@I sSoT oAer AT’ fFd TR &1 I g2 (1)
(i) ‘T R Al W w® 38 & §& O 78 FF gHR F a=g &2 (1)
(iii) ‘AT o 37afel A JerT|* fFd IHR &1 I g7 (1)
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(iv) “HITTPR SR HET ek HT 3cAE SG1AT T ohe TR T ared g2 (1)
(v) ‘g o HAFHsoT & FI-Hleed & oI fham §° FHaared # FIART HIioC] (1)
5. fAdaaR vg-aR=y W IraRe Rmfaf@a ofe weat F & gl an weat
& 3 difsw)

(i) I U IRAE S §1° {@ifehd Ug # gg-aRTy faf@v| (1)
(i) ‘STEY T, oA I Fe S| @i U @ ge-aR=y faf@w| (1)
(i) ‘T=2 Ao H W T A1 Wifrd ug & gg-aiey faf@v| (1)

(iv) ‘H Uod ard 38 g8 & o a1 @ifehd 9g &1 ge-aR=a faf@e| (1)
(v) SI9 4 B gg T hfadr 9g W@ M W@ifhd 9g 1 9g-IR=y faf@el (1)
6. fA&ATaR PR W ImRa Aeafaf@a ofa weal # & Bt IR weal &
I QST

(iy ‘fR-91q GRT FA e F HlF-AT HHR &2 (1)
(ii) ‘FAT ;S GeTbel IR GfAAT H HioA-TT IJARR 67 (1)
(iii) I} ST T TeHR & F FIA-A AR §? (1)
(iv) 39AT 3ePR & fohcdel 3797 g2 (1)

(V) Ul TR T BTY ST &8, sietel & STl @ T T H Hlel-AT HelpR 82 (1)

G397 (ISAYETF U GIF ISTTEAH)

7. rfaf@a afea segr W 3mRa sgliseda yeat & waifts suged
fwer gaey faf@wl

YT ¥, IREAR WWd Y, STeEifes oera @y & - a1y & |
g3 H @Y 3 dTd| Fe H g AlTT A, 3ol & Il I A, 3eal
& TR W ToId | FHel 3o G Seld, WU FaeR W | ey & o ar-ch a1
e 7 Fhrg TG A, F R @ wEaEE SErEr A od| R B e e
od, o [0 I8 c¥agR & od| 36 H # waf-hel Scfell I deh of S
f& ohaml T Hcger &1 | F3 9 g@ & WA & AT & v off oLt dod | a8
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TEET &, dlfthel ITeht T el qET A A S Fo WA F ey g, W
g Igel 39 TR & cIOR H o Sd ST 367eh X & IR HIF g7 W AT Th
FIRTN HS H AdA | 98 ER A A T @ o1 St 'gd@1e’ &9 & S 3¢
fAerar, 38 & ad 3R IW F IR Folrd !

(i) Pefaf@d # & Fia-ar segier & HqeT 76 87 )
() ST HIR & MR T I & I A

(@) =T srgAfa & fRel & avg 76 o A

(1) EI-CF a1 FA H FHIT 76T B

(&) ‘FEE @ g R T |

(ii) STEMTSET T HeX P IHGAT e Alal HT AR AT, FAR F, (1)
() FeITHFAT 3R HELR Mg+ |

(@) IEET B gU o Ay ygR|

(31) FUSEATiedr AR ®igaT 1 farer|

() TEEr A g o TR ¥ R

(iif) STerMfaeT FER HT I ATT - (1)
() & @) @
() e (@) T
(iv) 38 Ieier & STeaNiae $79Td &1 fhet fAATAINT 1 Ieer@ g3rm &7 (1)

() FcIAIG!, Taseaedr, fasarard

(@) FIaTEy, TEHY, TIsCaTey

(71) TorsoTare, Sy, Toseardy

(@) F, oy, fssmam|

(v) F¥eT 3R FROT W FOR F §U T fehew glav| )
FUw: eI ST Y SR ¥ &)
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FROT: TEET gl gu fr AR Shaer sadia =a A

(F) FUT TG B, e FROT T

(@) YA ITeId ¢, fhed HROT TE B
@@1) FUA 3R FROT ST TE &, TAT FROT, FUF T FE RAT FAT &
() FYUT F fIT HRUT T SATEAT LT &

8. ey Urel F YR W fArafaf@a ar weat & @ gl et wealt & 3w
difa
() 87 H Fg Thd & & ITdTeT e &1 BT a1 ? ‘AdTel HT IAT 916 F

IR W fafgu (2)

(ii) STCMIS #FTT & HYRY M I [AATAT T 2)

(iii) BTOIGIR TG heced HI S@HL AT FAI T IT? ‘SIdToil I AT IS &

IR W fafgu (2)

(iv) STCraNTeeT 37aTcT T qIaE 3¢ 3ehel FAT AT SIS G AT? (2)

9. rfaf@a afea vegr W ImuRd sgRweda gl & FAUF 39gFd
faer gt faf@v)
@] $gl g8 gAY STl Igdgaa'ﬂ‘dﬂ?orqm I

T B @M S T AN S/ IH 7IT F AN |

B3 g¢ Tgufdg F a | A o] et SR wd T 1
sl R oy &1 3T | ¥ TS FAfe o3 A ART ||
arerg difer Set g AEY | ool Al S5 SR FEr |
ool Sedany 31 Hgr | Seafafed effFasgper axer 1

(i) GRRIA o A9l IRTT H FAT 6T FeT? (1)
() # T a7f a7t gl
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(@) & 3rcafts Frel g

(@) & ST SEAIRY g

(@) # 9§ faea £l

(il) IRYRH o T&EHUT T T o HA & [T F47 oI Gam?

() T STeleh HT TE T BT
(@) 3 Fi §, 3 el &1 aer =g w3

(1) T F & AT IeTehT BT HeJageFd B
(87) UET 3eTerT TIHTT & ST B
(iii) “TRYNTH & el BIA T 3N SWT AT T 1T 572

() 3eTehT weET 3 GeT B

(@) 3THRT BIAT 3oTehl TERT ¢l

(@) FaT wxar fRE 3R & ar A6 g
() T FAAR AT, TATURT IR g

(iv) @&HOT & eI Teol & FIA-H ah fau?
. Tl v U A E

Il GIT eI gead | FAT g1, FAT ATeT?
. 9§ dr gd & ge |

IV. FfAST 31T g1 shrer Fat X @ 872

RFeq

@) I, 1l IV
@) I, Il, IV
@ 1, 1,

@) 1, I
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(v) TSI H F&A0T R TN X W} 87 (1)
(@) AH S A (T) TS STl T
(31) TRYRTH H (&) faearf@sT

10. ggg 9ot F IR W fArafaf@ad o) weat F @ et i weat & 3@
afaw|
(i) 3c4a @ MAAT FF FAST & fow Fid-ar 3oy f&ar AR Mt it ag wg

Fot ot 3mar 2 (2)
(il) TR faearfdT & weHoT dhr Riprayd fohet rsal 7 A &2 2)
(i) IRYRTH &I FEHOT & R Fleem & F&I0T a7 § ? (2)
(iv) 3c¥d & cFGER HI Jof=ll ha-fhad #T 75 §7? 2)

1. UF 9eqqeas W e Feafaf@a @i weat F & gt &Y weat & 3w
afaw
(i) ‘AT FT FTr IS H FHANAT & Gol H [HAR dRPEATY eanT fhw 1w

forell Teh TATT *T1 Ioor@ RNAV| 507 3¢ hed Siae et S Rram

fAerdr 872 (4)
(ii) STGNUT % HROT THf PT FoaTl et Tt 3 G@rs 95 @7 § 3R vguor & =t
& TOIT 39T AT RS g Hehcll §7 “HIA-HIT 1Y SIS 916 & el H 3N
fof@u (4)
(iii) 3T TR & AT 39a AfAAT I G@ert aEehell T 3l ST AT? (4)

3-H ([AcH® o)
12. farafaf@a e RAwat & @ el v RAvr w Be v @ gt & smuw
YT ST 120 sl H F e fAf@vw (6)
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(i) 319 3T g1 Fdell g ARY

¥ g
() dCoIdT FHT @) R O FF A4 @3) ARY & Tod FeH

(i) AT T @ gidhr

¥ g

() el FT IRTT (@) Far O (31) Wl HAGAT
(iii) df¥ae FwHTpoT (Tellaer arfaam)

WﬁFg

(@) FaT 8 (@) FROT 3T g9 @) S99 & 39

13. () 39 FAGMRHIAER &1 3 Fe & [T TET FR W AT T gl
T §| AT AT &l GV fAeIerd & Jarer F v Ferswer 100 el #
QAR &I Tah 1d-97 faf@u| (5)

AYar

(@) e TR W IS T vl &7 379s g@nrT duR Alsd &l 92
RERN GTed §IT | 37961 fT T SHAN DR & U 3R 3=t et A d
g‘UWTWTWO%RTﬁWW%@UI (5)

14. (F) AT AA-T/AAAT §| GATSAT T YT H @I (HPIBecc) HI UG Rabd
g1 39 3ad U T AT o, HiF (i) UROT ad &1 A & 3T As
& ToIT orErerer 80 QMeal # Fagd fAf@U| (5)

3ydar

(@) 39 AHARTST 81 39 8T 7 SI-HARAT Hel T &1 FAIR-{W1H FareeT-
PR A 3AfAT FeH 3o & AT 9T 80 el H 5-AT fAf@w | (5)

15. () 31T FU/&AT &1 3T Il Gl Asfahel ST A6 §1 368 Heftd
Waﬁywmﬁqu STITHT 40 2Tee] A AR ST | (4)
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HYar

@) 39 Rem/fAfeT &1 39T BT g F dsfHea & v I8y TR ) gafad
gl o foIT oeTa1eT 40 orscl H T qumE-dey faf@u] (4)

%k 3K 3k K K % K %k K k k k *k k
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Dol ﬂﬁ?r A g&ar / Total No. of printed pages: _8
TRATY] Sl fRuETOT FEr
Atomic Energy Education Society
cH-I/3mafe 9eT-Il Term-I/PT-Il Examination : Practice Paper-I|
%elr / Class : 10 31afr / Duration : 3 €<
fawTr / Subject : f&er 31f¥%ad 3% / Maximum Marks : 80

arAeg fAGer / General Instructions:

1. SHYAIT H I WS g- @S & IR T |

2. SH A FEAFeNT T TAeTERRIcHS |, TLRIcHD IR @s-@ #H guiacHAS

gesT feu 9w g
3. JYUrEHT FT WAl & 3 X gEder@ # faf@u|
s - &

g -1 AFAT@d aehmer &I ggad A fgU 9T geat & I fafgu |
FAR F FATT H EH TATSH T §3 FHT T 6707 Far| AT § ho Bk, AcHT,
AFSTARAT 3MTfe T 3egll Toe-FA0T oo XA T Ay fpar & fovely Y fRwad e €%
S 3eTh 3T dohi I FHIC Th| FAR T ATFdcd Sdall ST AT F 39 TF feh Favat
dr RFAa fhdr & A8 A 30 PR Iogia FHNST TUT A HT qSA AT fARIol-fAenTernT
a9 AT IWT| 3T ATH @I AR I 397 dlell & sTehell UgA I ool fe@mrm, 3
ST-gfodl & I 36 & IUCU I HUA Afdcled H FUR F Foh HHA Teh Hglod
e wEqd #X fewridl &1 HE9or fhar| s, dar, sfgar qur o A #r gER )
HA-HUS TAUT FHiAYT 1 faer fomar| oe arfeat, @A qur el @I sierare i amr
H TR Ik TAHT THh QT ATATET Tl 39 PR FaR o FHAIAET TTOCHI0T
AR 3R FHYA-HAT T Tehe] R o &1 & AT JaTesel, FATS-GURS AT HeTol Hid
q| Iogi Req-HATEH & &I HHAay T URT Jaried F ki T g1 Mol FereT |

(31) ?@JT%WWW%@WWHT%WW | (1x3=3)
1. PR T ATFT-ART FT AR W & ?

(@) T (@) @ () &IOT T 0T (6) SAH Hg A

2. FIX & RegARA & AL Hloran efeehIor oerar 2

() FATSIATGT (@) aiffs  (31) FFeggay () vfagas

3. %A, Qar, 3fedr vd fAor AT & gaeR ¥ ?

(®) JordleE (W) FeRe™  (31) Werd () HARIETS

(§) ITeTTer W ARG i o veat & 3 fAf@uw|  (2x2=4)
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1. o FATST H /R T ¢ Uy fhar 2

2-%8R DieT T ?

g2sT 2 faraAfaf@d gemer & ggat g fGu 1w gedr & 3% faf@u)
fawar e <&t §

gell FoEd feamd

31T T87ST AR doldl)
goT Sfeetr gard
geT-faga 91 @Wer g I8
g fa#d @A,

3T R g T
AR IIREIN
QfcqA= e
UEEU, | gl
3 g5 AT gAY
3T HfST SR &

T §C AT, AAfehel IHAT
SRITAT T X ¢
AT & AT § FA
FHAR FANT WX &
Rreg) 3 @ S e
I faear 3R §

ST H FaR

oTeX JH UagHT TgaT

JgoU, AIdld I{gaT|

(31) marwm;hﬁ%@agﬁwcﬂﬁqﬁa:m%@vl (1x3=3)
1. 390 HfAAT 7 FlAT AT AW §I &2

() o1 T &I T (@) T $T &M &

(31) IRER $r & & () GHATST hr & &
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2. ‘35T § I, g A SIftdA &= & 'S d 3R &
() FTo (@) =g

N

(M) &I | (') ar

3. 37T Tl §e7 Y Todd!’ H HiT T Tl T Far 31T ¢ -
(F) HoTA-FIcTeT (@) oI

N

(31) AT gard () dsT gard

(@) e W IR o weaAt & 3R qfAw|  (2x2=4)

1.7 FE A $r a1d T @I 872

2. Ffg o 'Igew Ty FeEaIfad foharm g2

9ol -3 fAATAR ThAT & 3MUR W ey A W YR I TGRIcAS YAl 7§ fohegl
IR 9e&l & 3 fafgu| (1x4=4)

1- &R T fer disar arelr @ar g S3i’ | g g & 3 arey & sefav -

2-faATly & FROT # AgfdcTTT g ST Hebr'| a1 Y T dFd H d&fav -
3-‘ﬁmm%m%ﬂﬁ'l gy I T I H d6falv -

4- ‘TS T TG 9T AT § I & U §¢ AT | I T e fhad &
5-FXST & o & I g IT| ARy Y AN gy #F efav -

9ReT -4 fAder AR A’ WX MR 9T FTERIcHS 9= # & gl aR o=l & I
ATl (1x4=4)

1-f5| areg & 3 & JUIar g § 981 Pl |1 g g 87

2-31fAa & dler A8 Jrar aeg # aEgdE Sasv|

3- &Y & AT AT ' YA & YR W aFT & A IdsU|

4 91T oFTT & HRUT dg dol AT YT JIFg I HGared H deiav|

5- UHTIG SR Tee foI@r I-T ared i shojared H Seiav|

el -5 A& AR ‘Ug yREw W IR g TgaicHS 9o H @ fhegl IR geat &
3 faf@u) (1x4=4)

(RrAfaf@d weslt A @ifehd uel &1 g gR=T qfSv] )

1 9 7 o Wad &

2- & gear o WY 2

3R 3Tl ET A Yol Bl
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4- Toodr aMEr & A & &
5- ®1g1 o &Is T&T Bl

UReT -6 fAder AR ‘el W MR I oTgeRIcHs Toal # @ fohegl IR wRal & 3R
faf@u| (1x4=4)

1-3eihR oG T enfegan A &

2-“dicht fasmmady SR, 3feX gefge & Sa1 W aR1- 8¢ 39 AFR” $HA Sl AT el gl
3-318T 39RT H 39HAT H GHGAT Tehe Sl STl § dal did AT il aidT g7

4-GoHIeT T YT H ST o UIS 3T | ofehl RN STl IS, T {ARARR HET |7 dichd & HieA-
qr HeFhR & ?

5-38 el AR 1Y & Te] HIel 3HRI oM |

mﬁT%aﬁTﬂmgmwm||tiﬁ——cr£rchidm3+eiqou%?

ge-7 fAFafaf@a afed eier W IR Sgashicds Tl & 3 & fow @ f&hea
g faf@ul (5 x 1 = 5)

ST & BISH M §¢ 1S o $1 gTolaR Aled 38 Hid & IR # & dwd @, AR 3 &
50 fshd W 9ED & Fol [AeT FEd & AFTR HT Jg JAH TIEAT &1 gl e
IRT| Hged FHfcl & 8T AT e, AT 76T, 38 HGAT HT § a1 ol qerferd o msiehel
o T AT el S W F

GE{l 9 519 gTeleR @MEe 38R & IR ol 3¢ Afd # $o 3R fewrs feam wa= @ ar ar
qrT TR TRAT GERT &1 Tg A A dlell WhR TLAT AT, 3 IR & AT el TAT &
(i) ST & 3MMeT §gel W T BleleN AB & Hfd & dR A AT oA AT HROT AT-

~

“ g8 9R SId glelgR AIgd 3T & R |” 37 d1g # ‘FEX Ase fordAsh fAT dAhd g7
a) & & forv
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(
(
(b
(
(

wRe-8 fAFATAITET afSd hreamr & 3MuR T QU a0 geait & HEr 3R ared faheq AT .
(1 x 5 = 5)

He3 G Al el TFERT | I Afg S fafeT FarT ||

AT e 3R ow sk | A Reg 6T Ag w3 S & |

T S g AT Fler | T afer av sarer w13 aer ||

3 AN sFAER3T dlell | R &3 # I @relr 1|

g g T9d FOR FURT | g1 g1 A FHT THRT ||

R WY 2wy A | Ry el a=3 s o

ffrer & ag e & S| efaeieadr R & A |

I i o AT YR | TAld TIATG o] Aan ||
1-ar&maawagmaﬁmﬁargz%%ﬁ:mmﬁméswﬁmmmgc
ar s WS FAT HROT 72

(a) IRIRTH 379 ATA-TAAT & FEAT HT ACTH &l |

(b) TRYRTH & 39 ATA-TAAT H F@-HHFeS AR WGy verel fohar |

(C) URRTH 39l ATAT-TAAT I HcG I FHROT |

(d) TRRTH 39l ATA-FAAT & AT 31979 o= ared 511

2-TEHUT & Hsd TUeAl Y FoI TRYRTH o Hio-8r Ticifshar dr ?

(a) 3YeT TRY HT HH’HT T I §¢1  (b) 3T TUT W 37aTh T3 |
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(c) 33T dga ST&HUT IR dR fohaT| (d)%aaﬁsrﬁf%\lm?rmgtraﬁl
3-T&EHUT T RYRTHA & Ffd TdeR & :
(a) JeIFTH (b) 3THATAATH
(c) FFHATSThR (d) Fieerdr - T
A4-TRRTA T FET FAT FeT S T 87
(a) 3oTh HIE TIHT & HROT |
(b) 3T doT 3R WIhdA & HROT |
(C) 3oTeh R HT ATH AT |
(d) @ 77 =W & g |
5-a Afg ST Sfed TORT #T dread g
(a) HER X ¥ Ig o9 Bd gl
(b) TER IR H 3/ HiaT g AAAT?
(c) TER & I§ ST HaT faeqe gl
(d) FOR # fRd 379er ST T =18 gl
G3-T (quTlcHS 92aT)
H-9 IET UIol & IMYR W AeFIof@d IR weadt # & el dief 9R&t & 3a¥ ofererar 25
T 30 erser & faf@u)l  (2x3=6)
1-8T1elt o gl §U S TRATT T 9T Heeed FAT Fgd A7
2-aT ol9T8T &7 SN Bl H| 9WTeT § 9Ieret !
e & gfa getarer Fr 57 fevuolt o 3mash gfafekar faf@o
3-TATRT A I3 IEEY SN 89T 37960 oo RS fAAYAT3T & FROT ATEY Fgerrd
A?
A-feT faR, gear 3R arEt & Y a1 FEE ol S ehdr §1 I9Te & 59 AR & 3T
el T HEHT 87
TeA-10 U 916l & IR W Aelai@d IR 9t # @ ey et 99at & e oferefar 25
¥ 30 ereet & fAf@w| (2x3=6)
1-MOAT GaRT 3gUd T HIIATT FHgad H FIT I fARRT 872
2-3¢Ud @RI f&U 1w T & Fger o M v fRgrfar & € & F Fa o

3-lmgm%mmﬁwrmaﬂwa&mﬁmﬁmﬁgémwwaﬁ%mm
$r VAT 39a et H fAf@u)
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4-TXRTH F Y FA T AEAT o G¥ & T SN & o0 Fled-HeT F do Gu?
URe-11 qTeh 916 qEceh & grel TR 3MRd Aefaf@d de geat & @ foregl e 9ot &
3T 9T 50 ¥/ 60 reai H faf@u | (2x4=8)

1-31T9eh faaR & el 39e AT @l S@a AEehaAT &l el STell g2

2-eay 3R 3T AT & W 3R Yol AT AT 39 ol AR Teled FHr Tl F
fre gR et 82

3P o STel HuF &l JaEUT fohd ThR Hr g2

ueeT 12 et oiet fawal & & fohdll o fawar o) oemerer 120 ersal # dR i
Igeoe faraT (6)
1-sedt sy e # AT $v spfAenr

o TR 3R Arr-far

o Rue &T Fgar

o 3T

o TRuEnfager aX g FA|
2-TaATeT &Y eI TieT : AFel Biet

o fa=mer dr 3reEd @t
o Wil HT Fed gfaar &7
o IR &7 H HIfd
o T IR geror ATereT
. ﬂTﬂ&ﬁTﬁﬁﬁl
3 AT el X A=t #r 3R
o fFHa &7 37 Td TER-IER
o faamget B osrae s
o faausT 1 goTa
o AT & crer-grfal

13- 39 TIcTTer H Wl & WA I FA § fFa@d 39 gy i d7 Wl # 7
30T Jedel & U1 I & AR A g Jaeh Sl A1 §1 $8 IR AT 3T A §U 9=
faearerar & gu=Tard #r Ferster 100 reai H Wr-97 faf@u| (5)

3rar
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3Rl 319a7 AT et & Ty @ 9faAfFar & #eT O dced I & 3a8 A 39
Wwﬂwmymﬁaaﬁwﬁ»@m

14-319 AR &1 39 Tolg FHR & fAardr &1 Sfas TARR 93 & gdr ger ¢ &
T Torhy ATeafAs Aoy & qEdetory 3edsl &1 9 Rad g1 319 3ad g 6
TRYAT TR 3o oreed Gsd & 3l giffer v gu g1 3rd: 399 Read ug g Tohg
AEAS [deTord & [deaord T & A9 g oferseT 80 sal H U= Higed Fagd
faf@wl (5)

3Tar

39t T8 &l 3Ol SeAfest i ardl & foT HEAUT & g SeTenr 80 sal H g-A fAf@U|

15- 379 379e T R S=A1 6 8| S8 T Teh 60 sl # Ueh HTh¥eh Il GaR
@'%I'Q'IM)

3Tar

m?ﬁ$w$qﬁ%ﬁra:wﬁmﬂmmaﬁmmaﬁqﬁwa:ﬁmgww
TS EFTHT 40 usel A faf@u|
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T E’%‘d 98 H&IT / Total No. of printed pages: 8

TTHTI] ST TVEA0T FET
Atomic Energy Education Society
=H-1/smates arer-1l Term-1/PT-1l Examination : Practice Paper-I11
&7/ Class : 3941 srater /Duration : 3 5
fawr /Subject : FE=<T -s1(F1=2-002)  rfdhaw 3% / Maximum Marks :80

AT fA%er / General Instructions:

1. T TIIT A G § - G ‘F ;S T WS F H IequH/agawedt s @< g H
FuiATeH® T R TT §

29579 & I Gt J W T gedqr 15 § S ol vy sifard § )

3. JATENT T AT o A FATAR g |

ge -h
(TEQIF | Fgiadwedl T97)
g. 1. [REfafad saf3a Terrer #1 985 39 92 SrTRT I9T & ¥ f[Af@w-  (1x3=3) (2x2=4)

FITA T TET-9ATHAT ST T HIGH ATAEHALINT 5| THh AL 3T IeH<h d1ad [
TTAATITEAT TAATHRTL Tae I, et T waarstt § qrdge T HITAT FLT Tgd g A
THE HTATAT ST ATRITL SATRYOT T 3 AT af F SI1AT Fed H 6 gl I g1 SASTATT
T T Giad ot off deaefier Aftass & fiae ga=e &7 FT 9T gl Flal-81 THhd T
HIT =T T8 o Afaai & S 9= At 998 TR gL Gdl & (= gagaefier 79 &
AF AT ° 9L ad gl S-H @Al H Teh TH[ I AgAgIdl A<l Hed, gaT H THEATd ol
qATE & FeT ST ATA 6T TIAT 6T TgAT g5 HE-HE gaT, HaAASaT & I 9@, Gaad & a4
ST, STHT o Ha&¥ Ydiel T9% qe 3T 3L a9 o gL-AY AT 6 a0 i@l § T a8 Tgd
2| UTHfde Sersll § 9 T T g3t I3 § HEH A@ehi, HaAT ST FATRI 1 ST Fdl
TET 8| TH AT TLQTT % Hdd dgl 9T & oreg 36 gl U JaT g+ &7 ST e g oar
T g ST ATAATST S | T8 T 2

(i) TR HaaTelie 79 7 IIF A | 92 3 2-
(F) AT, T2 T @ai 6 =

(@) AT, FHET 3T g T+ 6 397

(T) =TST T FHER T T AT gATA]

(%) FET A U o THeA-S[of 39T
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(ii) *r@eh T TP F ST shl ET-9ATHAT GTAT T ST HHT A5l 57
(F) srtereqzofiT

CIRIRIEL

WEIERET

GEIGIE

(iii) sRTTeT ¥ S % oo § e i wrer i geaar e

FAT (A) : TS FIAT AT T HGE AGhI, HIAAT AC FATRI I T FHAT Lol Bl
FTET (R) : 7 AT AT & ITHas STl F 90 2

(F) FAT (A) 3T FTET (R) T T 2

(@) FAT (A) < F7 (R) AT TF 2

(M) T (A) T 9T FT (R) 9T Bl

(%) F=T (A) A 9T F10T (R) F7 Bl

(iv) ITRITET % ST 9 FATS T o ATaSTiord svrer &1 "/iad foh-fohe JTehfa®
Teat ¥ e aa7 82
(V) STRITST ¥ ST T et ol " -9 THAT" T gl AT 872

¥.2. [REfafaa #1379 93 SremiRa aglasediq aeqai® T471 # << aalias 9G4 [aFeT

FAH [laT- (1x3=3) (2x2=4)
H ST Frer ar 3 r

W?EQ@E@% HEAT ST T FHET F [T~ TG 0 1
B ST 3 =T

1 TR AT St e AT i reelt 3 a8 g 421 7 % 8 o

S e g o A Frsf =1 & oftaet 1 =t A1

feraTat, FA=T 3% fAsie gar it T 7§ 9T

ARSI ) Gredr g faseh-

TET 8 AT A & T TF 92T 3T SfI¥ AT &M & el g gar

SThST & ST | aTe ST HTAT X 9T &l S 9L qaai-a7 fgardl
Strae T fRaet FTITe AT T Jg Hei THT SA § Ge1 T Iocd| | 6 6

CEAD) WA FTEY YA T

HY 7. IS IEEE RIS G LR

... a2 &1 avg Ruw o= wfaat & 9 EE R AL IR
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(i) =% & T ThTT T I TEET g of1?
() STHT @I =TT HF

(@) Fsiar =T & gar &
WIENIEIE RS G

(71) srgpfva = it

(i) Tt H S T[T % FAFA g T FAT AT 52
(F) ST o &= ST T

() IFLAT 3T AA-S(aT T

(1) FATEATAT * e FwT

(%) T T T FHA BT T

(i) "FHRTT T 3T UF T I AT ZA F AT AT HS r ATATSA A Avefierar § ggATAT 8-
Tg AT o UT=k § g2

() TSI =T & S{taq # SEi & 9d @ & T 677

(@) TSt 7 g =% H/fharat, FOei e st gar i

() T2 Y I o g At & 9=

() T H I A AL qAAT-AT gt t

(iv) FferaT & ' e G AT07q ‘ST § STET ST T FAT Hohe 872
(v) TEr=eht @red &t =¥ § gaT &7 FT T979 I2aT 82

7.3 [RATTITE THAT 75 ST G T~ 97 9T AERT 3757 T Tglased 757 & 307
oo - (1x4=4)
1. STEATIH AT sl THT il 3T IAFT IHTE TETAT | TH ATHT Fl 7 a7 | qiaraa
EnIE L

2. 519 B gal gs , a9 % I M | §IH a7 § Iatad i)

3. ATATST S & (o6 ST FETT o 74T | ST ITATHT TAT2T |

4. g TE0% Tl & , 30 A @al AT ? Yeifehd ST &7 9 9a130 |

5. ST =f<h 397 % @ ¥ fHedr g agr agr Sa9<h gial § | 39 a7 &l a3 ar g o
YA FHT |
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5.4 [Rqer ar=7 93 ST 3751 91T agiasmedi T971 & I AHog - (1x4=4)

(1) SHH TAAT FE LT Tl AT | T AT F Hgar=d ¥ q&T |

(2) TTET T 35— Al TRl g | TH ATHT T TATFALIT AT | HRT |
(3) STFGAT=T = Toha HZ GId & ST A1 foI9u |

(4) T B TSN TH FHATT § T&AT |

(5) FAT=T & AEA oI |

9.5 fAufafad a7 § @ (@57 91K G@i3a 9ai 7 7e-9R97 97 - (1x4=4)
(1) =y Tt oty Fear § uEedT 2 |
(2) | a7 H 0 foheq 7t 0 A AEl e |
(3) TI-laA &1 @7 A7 TE BT 14T |
(
(

4) TEA TZT AT AT T |
5) qAT HTEE o a<h Fled & o7 ¥ g4e giv |

5.6 A3eqaIR TAFIC T ATETRT (3751 91¢ 75471 & FIL fatay - (1x4=4)
(&) Faferfea Frer- dfet & T3=F st aars -

T 9 A A AT @t

AT gadt -4 A= 3a
(@) OO T =T 29 I, T T FqF 97 39 T T W T e T 3T F 2

(1) STTTITeT FTed- Gipat § TI<6 AT aarey —
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WRYTY] SHoll FRI&or e
Atomic Energy Education Society
eH-y3mafte udreqT-i Term-1/PT-11 Examination : Practice Paper-I

D& / Class : X 3raf¥l / Duration : 3 hours
fawg / Subject : Mathematics SfUHAH 3id/Maximum Marks: 80 marks

HTH ﬁ%&T !/ General Instructions:

1. This Question Paper has 5 Sections A-E.

2. Section A has 20 MCQs carrying 1 mark each.

3. Section B has 5 questions carrying 02 marks each.
4.
5
6

Section C has 6 questions carrying 03 marks each.

. Section D has 4 questions carrying 05 marks each.

. Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the

values of 1, 1 and 2 marks each respectively.

. All Questions are compulsory.

However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 1 Question of 2 marks has

been provided. An internal choice has also been provided in the 2marks questions of Section E

. Draw neat figures wherever required. Take m =22/7 wherever required, if not stated.

SECTION-A

Answer the following questions.

If HCF of 55 and 99 is expressible in the form 55 m — 99, then the value of m is 1
(@) 4 (b) 2 (1 (d)3

If the LCM of a and 18 is 36 and the HCF of a and 18 is 2 then the value of a is 1
(@) 12 (b) 36 ()9 (d)4

If the zeroes of the quadratic polynomial X2+ (a+ 1) x+bare2and -3,then 1
@a=-7,b=-1 (b)a=5b=-1 (c)a=2,b=-6 (da=0,b=-6

If one zero of the quadratic polynomial x* + 3x + k is 2, then the value of k is 1
(@) 10 (b) -10 ()5 (d) -5
The zeroes of the quadratic polynomial x* + 5x + 6 are 1
(a) both negative (b) one positive and one negative

(c) both positive (d) both equal

Page 1 0of 7



10

11

12

13

14

15

16

17

18

iﬂﬂﬁﬁwm/mtal No. of printed pages:7

If the lines given by 3x + 2ky = 2 and 2x + 5y + 1 = 0 are parallel, then the value of k is
@)= OF ©= OF
4 5 4 2
If the pair of equation, 6x — 2y = 3, kx — y = 2 has a unique solution, then
a)k=3 (b) k+4 (c)k#3 (k=4

For which of the following values of m and n do the equations mx + 4y - 6 =0 and
ny - 12x + 12 = 0 have infinitely many solutions?

@m=-landn=2 (bp)m=-landn=3

(cm=6andn=-8 (dm=6andn=-2

The values of k for which the quadratic equation 2x* — kx + k = 0 has equal roots is
(@) 0 only (b) 8 only (©0,8 (d) 4

If one root of the equation x* + ax + 3 = 0 is 1, then its other root is
(@3 (b) -3 (c)2 (d)-2

A quadratic polynomial the sum and product of whose zeroes are — 3 and 2 respectively, is:

a) x> +3x—2 b) x*— 3x— 2 c) x> —3x+2 (d) x*> +3x +2
The 2nd term of an AP is 13 and its 5th term is 25. Its 17th term is.

(a) 69 (b) 77 (c) 81 (d) 73

The number of terms of an AP 5,9, 13, .... 185 is

(a) 41 (b) 51 (c) 31 (d) 46

The distance between the points (3, -2) and (- 3, 2) is

(a) 40 (b) 4V10 (c) 2710 (d) V52

If (a, b) is the mid-point of the line segment joining the points A (10, —6) and
B (k, 4) and a — 2b = 18, the value of k is

(a) 40 (b) 4 (c) 30 (d) 22

_ AB  BC CA
IfinA ABC and A PQR, we have — = —— = ——then

QR PR PQ

(@) A BCA~A PQR (b) A PQR ~A ABC
(c) A QP R~A ABC (d) A CAB ~A PQR
InA ABC, a line XY parallel to BC cuts AB at X and AC at Y. If BY bisects 2XYC , then
a)BC=CY b) BC =BY ¢) BC£BY d) BC£CY

AB _ BC
If in triangles AABC and ADEF, F ZE , then they will be similar, when

(a) B =£E (b) zA=2+D (©)2B=4«D (d) zA=2F
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ASSERTION REASONING BASED QUESTIONS: For the next two questions

choose the correct one from the following options.

a) Both assertion (A) and reason (R) are true and reason ( R ) is the correct

explanation for assertion (A).

b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation for assertion (A).

c) Assertion (A) is true but reason (R) is false.

d) Assertion (A) is false but reason (R) is true

Assertion (A): Polynomial (x + 1) (x* — 4) (x + 5) has at most 4 zeroes.

Reason (R): Degree of given polynomial is 4

Assertion (A): HCF of two numbers is 17 and their product is 5780, then their LCM is
340.

Reason (R): HCF of two positive numbers is always a factor of their LCM.

SECTION B

n . . - .
Can the number 6 ', n being a natural number, end with the digit 5? Give reasons.

Find the value(s) of k for which the equation x*+ 5kx +16=0 has real and equal roots.
OR
Is the pair of equations x+2y—3=0 and 6y+ 3x-9 consistent? Justify your answer?

Find a relation between x and y such that the point (X, y) is equidistant from the point (3, 6)
and (- 3, 4).

A vertical pole of length 6 m casts a shadow 4 m long on the ground and at the same time a

tower casts a shadow 28 m long. Find the height of the tower.

Find the 20™ term from the last term of the AP 3,8,13,....,253

SECTIONC

. . 1 : :
Find the zeroes of the polynomial X2 + < X — 2, and verify the relation between the

coefficients and the zeroes of the polynomial.

Show that 3 V2 -5 is irrational, given v/2 is irrational.
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28 State and prove Basic Proportionality Theorem.

29

30

31

3

N

OR

AABC and A AMP are two right triangles, right angled at B and M respectively.

Prove that:

(i) AABC~ A AMP

(i)

CA

PA

__BC C
MP M
A [ \ P
B

Find the coordinates of the points of trisection of the line segment joining the points

A(2,-2)and B(- 7, 4).

OR

Find the ratio in which the y-axis divides the line segment joining the points (5, — 6) and

(-1, —4). Also find the point of intersection.

If o and B are zeroes of the quadratic polynomial x> — 6x + a. Find the value of ‘a’ if 3a + 2B = 20.

How many terms are there in an A.P whose first and fifth terms are —14 and 2 respectively

and the last term is 62.

SECTION D

In the fig 6.13, OB is the perpendicular bisector of the line segment DE, FA L OB and FE

1
intersects OB at the point C. Prove that — +

1 2

0OA OB OC

Page 4 of 7
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OR
In a triangle PQR, N is a point on PR such that QN _L PR . If PN. NR = QN?also
PN =QN, QN = NR then prove that £ PQR = 90°.

A train travels 360km at a uniform speed. If the speed had been 5km/h more, it would have 5
taken 1 hour less for the same journey. Find the speed of the train.

OR
The hypotenuse (in cm) of a right-angled triangle is 6¢cm more than twice the length of the
shortest side. If the length of third side is 6¢cm less than thrice the length of shortest side ,

then find the dimensions of the triangle.

A sum of Rs 700 is to be used to give seven cash prizes to students of a school for their 5
overall academic performance. If each prize is Rs 20 less than its preceding prize, find the

value of each of the prizes.?

Solve the equation forx: 1 +4+7 + 10 + .... + x = 287 5

SECTION E
Ryan, from a very young age, was fascinated by the twinkling of stars and the vastness of
space. He always dreamt of becoming an astronaut one day. So he started to sketch his own
rocket designs on the graph sheet. One such design is given below.
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Based on the above, answer the following questions: 1
(i) Find the mid-point of the segment joining F and G. 1
(if) Write the coordinates of D. 2
(iii) (@) What is the distance between the points A and C?

OR

(b) find the coordinates of the point which divides the line segment joining the

points A and B in the ratio 1:3 internally.

37 A fashion designer is designing a fabric pattern. In each row, there are some shaded

squares and unshaded triangle.

(i)ldentify A.P. for the number of triangles in each row.

(i1) Identify A.P. for the number of squares in each row.

(iii) (@) Write the formula to find total number of triangles in n number of rows.
OR

(b)Find Sy, for the total number of triangles in the given figure.
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38 While playing in a garden, Samaira saw a honeycomb and asked her honey bees to store
honey. Also, she told her that the shape of the honeycomb formed is a mathematical
structure. The mathematical representation of the honeycomb is shown in the graph.

Based on the above information, answer the following question

ki
l)||r
":l“ “"\) ‘\lx\ ‘I‘J',

(i) How many zeroes are there for the polynomial represented by the given graph ? 1
(ii) Write the zeroes of the polynomial. 1

(i) (a) If the zeroes of a polynomial x*+ (a + 1) x + b are 2 and 3, then 2
determine the values of a and b.

OR

(b) If the square of difference of the zeroes of the polynomial x> + px + 45 is
144, then find the value of p.

***********************TH E E N D *hkkhkkkhkkkhkhkkkhkhkkkikhihkikik
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Atomic Energy Education Society

TH-1/3af8e ieT-2 Term-1/PT-11 Examination : Practice Paper-1I
&I/ Class : X 371af®r / Duration : 3 hours

a9 / Subject : Mathematics 37T&hd# 37 / Maximum Marks : 80

General Instructions:

1. This Question Paper has 5 Sections A-E.

2. Section A has 20 MCQs carrying 1 mark each.
3. Section B has 5 questions carrying 2 marks each.
4. Section C has 6 questions carrying 3 marks each.
5. Section D has 4 questions carrying 5 marks each.

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the values
of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2
Questions of 2 marks has been provided. An internal choice has also been provided in the 2marks
questions of Section E

8. Draw neat figures wherever required. Take m =22/7 wherever required, if not stated.

SECTION A (1X20)

The exponent of 2 in the prime factorisation of 144, is [1]
a) 4 b) 2 c)6 dy1
If the HCF of 65 and 117 is expressible in the form 65m — 117, then the value of ‘m’ is [1]
a) 3 b) 1 c)2 d) 4
The number of quadratic polynomials having zeroes - 5 and - 3 is [1]

a) 2 b) morethan3 ¢)3 d) 1
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A quadratic polynomial, whose zeros are 5 and - 8 is

a)x2+4x- 3 b) x% +3x - 40 c)x?+13x- 40 d)x?- 3x- 40

Graphically, the pair of linear equations 3x - y +8 =0and 3x - y = 24 represents two
lines which are:

a) intersecting exactly at one point b) intersecting exactly at two points

c) coincident d) parallel

For what value of k, do the equations 3x —y + 8 = 0 and 6x — ky = -16
represent coincident lines?

a) -2 b) 2 c) -3 d)

A quadratic equation ax? + bx + ¢ = 0 has real and equal roots, if

a) b?- dac=0 b) b? - 4ac <0 c) b?- dac>0 d)b%?- 4ac#0
The discriminant of 4x? + 3x —2=0is

a) - 23 b) 41 ¢) 39 d)- 31

The 11th term of the AP:—S,_?S, 0,-,...is

N |un

a) 30 b) —20 c) 30 d) 20
If the common difference of an A.P. is 5, then the value of a,o - a3 s

a) 35 b) 25 )40  d)30

AB _ BC _ CA

Ifin A ABC and APQR, we have
QR PR PQ

then

a) ABCA~APQR b)APQR~AABC ¢)AQRP~AABC d) ACBA~APQR
. AB BC

If in AABC and ADEF, == then AABC ~ ADEF when

aQ)2B=2E b)2B=2D C)2A=2F dz2A=42D

D and E are respectively the points on the sides AB and AC of a triangle ABC such that
AD =2cm, BD =3 cm, BC =7.5 cm and DE|| BC. Then, length of DE (in cm) is

a)6 b) 5 c)2.5 d) 3
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20

In what ratio does x - axis divide the line segment joining the points A(2, - 3)and B(5, 6)?
a)l:2 b)3:5 c)2:1 d)2:3

The distance between the points (c, 0) and (0, - c¢) is:

a) 2c¢ units b) ¢ units ¢) cv2 units  d) 2+/c units

If the distance between the points A(4, p) & B(1, 0) is 5 units, then the value(s) of p is/are
a)0 b) 4 only C) - 4 only d) +4

The zeroes of the polynomial the 3x? - 5x - 2 are

a); .2 b) = 2 0= -2 d)3, -2

The LCM of the smallest odd composite number and the smallest prime number is

a)l b) 10 c) 18 d) 4

Assertion (A): The graphic representation of the equations x + 2y =3 and 2x + 4y + 7 =0
gives a pair of coincident lines.

Reason (R): The graph of linear equationsa; x+b;y+c;=0anda, x+b,y+c, =0

. . . . . . b
gives a pair of coincident lines if = = 22 ==
a; by o

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.
c) Alis true but R is false.

d) Ais false but R is true.

Assertion (A): Common difference of the AP - 5,-1,3,7, ... is 4.

Reason (R): Common difference of the AP a, a +d, a + 2d, ... is given by
d=2"term- 1 term.

a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.

c) Alis true but R is false.

d) A is false but R is true.
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30

SECTION B(2X5)

Explain why 7 x 11 x 13 + 13 is a composite number.

Find out whether the following pair of linear equations are consistent or inconsistent:

5X- 3y=11,- 10x +6y=- 22
OR

The difference between two numbers is 26 and one number is three times the other. Find

the numbers.

Solve the quadratic equation by factorization:

3x2—2V6x+2=0

In the figure, altitudes AD and CE of A ABC intersect each other at the point P. Show
C
that: A AEP ~A ADB

/15D

/®
/|

Y, AN
ya

E

Find the value(s) of y for which the distance between the points A(3, - 1) and B(11, y) is
10 units.

OR
In what ratio does the point P(-4,6)divide the line segment joining the points A(-6,10) &
B(3,-8)?
SECTION C(3X6)

Show that. 5 —+/3 s irrational.

Find the zeroes of the polynomial 4x? + 5+/2 x - 3 by factorisation method and verify the

relationship between the zeroes and coefficient of the polynomial.

The sum of two numbers is 27. If their product is 182, find the numbers.

One root of the quadratic equation 2x2 - 8x - k=01s g .Find the value of k. Also, find

the other root.
OR

Find two consecutive odd positive integers, sum of whose squares is 970.

The sum of the 4" and 8" terms of an AP is 24 and the sum of the 6™ and 10" terms is 44.

Find the first three terms of the AP.
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36

If the point C(- 1, 2) divides internally the line segment joining A (2, 5) and B( X ,y) inthe  [3]
ratio 3:4, find the coordinates of B.
OR
Find the co-ordinates of the point on y- axis which is equidistant from the points A (5, - 2)
and B (- 3, 2).

SECTION D(5X4)

Find the zeroes of a quadratic polynomial 2x? + 3x - 14 and verify the relationship [5]

between the zeroes and its coefficients.

The difference of two numbers is 5 and the difference of their reciprocals is% _Findthe  [8]
numbers.

Find the sum of integers between 100 and 200 which are (i) divisible by 9 (ii) not divisible [5]
by 9.
OR

The first term of an A.P. is 5, the last term is 45 and the sum of all the terms is 400. Find
the number of terms and the common difference of the A.P.
Prove that a line drawn parallel to one side of a triangle to intersect the other two sides in  [5]

distinct points, divides the two sides in the same ratio.

OR
AD and PM are medians of triangles ABC and PQR respectively where AABC ~ A PQR.
Prove that 22 = 22
PQ PM

SECTION E(4X3)

An alumni association is an association of former students. These associations often

organize social events, publish newsletters or magazines and raise funds for the
organisation.The alumni meet of two batches of a college - batch A & batch B were held
on the same day in the same hotel in two separate halls “Rose” and “Jasmine”. The rents
were the same for both the halls. The expense for each hall is equal to the fixed rent of
each hall and proportional to the number of persons attending each meet. 50 persons
attended the meet in “Rose” hall, and the organisers had to pay< 10000 towards the hotel
charges. 25 guests attended the meet in “Jasmine” hall and the organisers had to pay <
7500 towards the hotel charges. Denote the fixed rent by < x and proportional expense per
person by T .

1. Represent algebraically the situation in hall “Rose”. [1]
2. Represent algebraically the situation in hall “Jasmine”. [1]
3. What is the fixed rent of the halls?
OR [2]
Find the amount the hotel charged per person.
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37

38

In order to conduct Sports Day activities in your School, lines have been drawn with chalk
powder at a distance of 1 m each, in a rectangular shaped ground ABCD, 100 flower pots
have been placed at a distance of 1 m from each other along AD, as shown in given figure
below. Niharika runs 1/4 th the distance AD on the 2nd line and posts a green flag.
Preet runs 1/5th distance AD on the eighth line and posts a red flag.

D =
pil
g
= e
4]
p=i N Y - N
x4 [ 7R
. /) Y
4] i
¥4 ,
i,
A - t B
i1 2 3 4 5 6 7 8 9 10
1. Find the position of green flag. [1]
2. Find the position of red flag. [1]
3. What is the distance between both the flags? [2]

OR

If Rashmi has to post a blue flag exactly halfway between the line segment joining the two

flags, where should she post her flag?

To enhance the reading skills of grade X students, the school nominates you and two of
your friends to set up a class library. There are two sections - section A and section B of

grade X. There are 32 students in section A and 36 students in section B.

1. What is the minimum number of books you will acquire for the class library, so that [1]

they can be distributed equally among students of Section A or Section B?

2. If the product of two positive integers is equal to the product of their HCF and LCM is [1]

true then, find the HCF (32, 36).

3. What is the prime factorisation of 13915? 2]
OR

If p and q are positive integers such that p = ab® and g= a’b, where a , b are prime

numbers, then find the LCM (p, q).
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dTHT ﬁﬁ"\’l/ General Instructions:

1. This Question Paper has 5 Sections A-E.

2. Section A has 20 MCQ s carrying 1 mark each.

3. Section B has 5 questions carrying 2 marks each.

4. Section C has 6 questions carrying 3 marks each.

5. Section D has 4 questions carrying 5 marks each.

6. Section E has 3 case based integrated units of assessment (1+2+1=4 marks
each).

7. All questions are compulsory. However, an internal choice is given for some Qs.
8. Draw the figures wherever required. Take =22/7 wherever required, if not stated.

SECTION-A (1 x 20=20M)
Q-1: If HCF of 6 and 20 is 2, then LCM is

(a) 40 (b) 60 (c) 80 (d) 120

Q-2: If the zeroes of the quadratic polynomial x2 + (a + 1) x + b are 2 and -3, then
@a=-7,b=-1 (b)a=5b=-1 (c)a=2,b=-6 (da=0,b=-6

Qa3: If the lines given by 3x + 2ky = 2 and 2x + 5y + 1 = 0 are parallel, then the value of k is
()= (b)= ()= ()=

Q-4: If a polynomial is given by p(x) =x2— 5x + 6, then the value of p(1) +p(4) is:

@0 (b) 4 (c)2 (d) —4

Q-5: A quadratic equation ax? + bx + ¢ = 0 has two distinct real roots if

(@) b2~ 4ac=0 (b) b?>—4ac >0 (c) b~ 4ac<0 (d) b2-4ac >0
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Q-6: The 10th term of the AP: 5, 8, 11, 14, ... is

(@) 32 (0)35 (c) 38 (d) 185

Q-7: The sum of first five multiples of 3 is

(a) 45 (b) 55 (c) 65 (d)75

Q-8: The value of k for which the equations 3x-y+8=0 and 6x-ky=-16 represent coincident lines
s

(a) - (b) = OF: (d)-2

Q-9: If ax+by =a?— b2and ax+by =0, then the value of x+y is:

(@) a®>- b? (b) atb (c)a-b (d) a?+ b?
Q-10: If one zero of the quadratic polynomial x? + 3x + k is 2, then the value of k is
(@) 10 (b) -10 (€)5 (d)-5

Q-11: The distance between the points (0, 5) and (-5, 0) is

(a) 5 (b) -5 (c) 5v2 (d) -5v2
Q-12: If in triangles ABC and DEF, %:%, then they will be similar, when
(@) £B=«E (b) £A = 2D (c) £B =«D (d) A =2£F

Q-13: The 21st term of the AP whose first two terms are -3 and 4 is

(@ 17 (b) 137 (c) 143 (d) -143
Q-14: If the HCF of 65 and 117 is expressible in the form 65m — 117, then the value of m is
(a) 4 (b) 2 (€1 (d)3

Q-15: The pair of equationsy =0 and y = -7 has

(a) one solution (b) two solutions (c) infinitely many solutions (d) no solution
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Q-16: The roots of the equation 2x?—5x + 3 =0 are

(a) (b)

N =
N w
N w
N R

(€31 @13

Q-17: If 7 times the 7th term of an AP is equal to 11 times its 11th term, then its 18th term will
be

(@) 7 (b) 11 () 18 (d) 0

Q-18: If x = a, y = b is the solution of the equations x —y = 2 and x + y = 4, then the values of a
and b are, respectively

(@ 3and>5 (b) 5and 3 (c)3and1 (d)-1and -3
ASSERTION AND REASONING BASED QUESTIONS
For the next two questions choose the correct one from the following options.

a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation for
assertion (A)

b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation for
assertion (A)

c) Assertion (A) is true but reason (R) is false.
d) Assertion (A) is false but reason (R) is true.

Q-19: Assertion: The point (-1, 6) divides the line segment joining the points (-3, 10) and (6, -8)
in the ratio 2: 7 internally.

Reason: Three points A, B and C are collinear if AB + BC = AC.

Q-20. Assertion: If a line intersects AB and AC of AABC at D and E respectively and is parallel

to BC then E:E.
AB AC

Reason: If a line is parallel to one side of a triangle, then it divides other two sides in the same

proportion.
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SECTION-B (2x5=10 M)

21. Explain why 3 x 5 x 7 + 7 is a composite number.

22. If aand Pare zeroes of the polynomial f(x) = x2— x — k such that o — B =9, find k.
OR

Find the roots of the quadratic equation x2+ 2v/2x — 6=0 by using the quadratic formula.
23. Find the middle term of the A.P. 6, 13,20 ........... 216.

24. In the given figure, QA L AB and PB L AB. If AO=20cm, BO=12cm, PB=18cm, find AQ.

25. For what value of k, the pair of linear equations kx-4y=3, 6x-12y=9 has an infinite number of

solutions.

SECTION-C (3x6=18 M)

26. If the mid-point of the line segment joining the points A (3, 4) and B (k, 6) isP (x, y) and x +
y —10 =0, find the value of k.

27. Determine the AP whose third term is 16 and the 7th term exceeds the 5th term by 12.

28. If 2x + y =23 and 4x — y = 19, find the values of 5y — 2x and %— 2.
OR

Solve by substitution: x + y=7; 2x-3y=11

29. Prove that 2v/3 — 1 is an irrational number.

30. Find the zeroes of the quadratic polynomial x? + 7x + 10, and verify the relationship

between the zeroes and the coefficients.

31. D is a point on the side BC of a triangle ABC such that £~ ADC = ~ BAC. Show that CA? =
CB X CD.
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SECTION-D (5x4=20 M)

32. Draw the graphs of the pair of linear equations x —y + 2 = 0 and 4x —y — 4 = 0. Calculate the
area of the triangle formed by the lines so drawn and the x-axis.

33. E is appoint on side AD produced of a parallelogram ABCD and BE intersects CD at F,
Show that AABE ~ CFB.

OR
State and prove Basic Proportionality Theorem and hence find EC in given figure if DE || BC.

34. A train travels a distance of 480 km at a uniform speed. If the speed had been 8 km/h less,
then it would have taken 3 hours more to cover the same distance. We need to find the speed of

the train.

35. A spiral is made up of successive semicircles, with centres alternately at A and B, starting

with centre at A, of radii 0.5 cm, 1.0 cm, 1.5 cm, 2.0 cm, . . . as shown in figure below. What is

the total length of such a spiral made up of thirteen consecutive semicircles? (Take n = %)

OR

The sum of four consecutive numbers in an AP is 32 and the ratio of the product of the first and
the last terms to the product of the two middle terms is 7: 15. Find the numbers.
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SECTION- E (4x3=12 M)

36. A school auditorium has to be constructed with a capacity of 2000 people. The chairs in the
auditorium are arranged in a concave shape facing towards the stage in such a way that each
succeeding row has 5 seats more than the previous one.

(@) If the first row has 15 seats, then how many seats will be there in 12th row? [1]

(b) If there are 15 rows in the auditorium, then how many seats will be there in the middle row?

[1]

(c) If total 1875 guests were there in the auditorium for a particular event, then how many rows
will be needed to make all of them sit? [2]

OR

(c) If total 1250 guests were there in the auditorium for a particular event, then how many rows
will be left blank out of total 30 rows? [2]

Q-37: On the roadway, Points A and B, which stand in for Chandigarh and Kurukshetra,
respectively, are located nearly 90 kilometres apart. At the same time, a car departs from
Kurukshetra and one from Chandigarh. These cars will collide in 9 hours if they are travelling in
the same direction, and in 9/7 hours if they are travelling in the other direction. Let X and Y be
two cars that are travelling at x and y kilometres per hour from places A and B, respectively. On
the basis of the above information, answer the following questions:

— —
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(a) When both cars move in the same direction, then find the situation which can be represented

algebraically. [2]
OR

(@) When both cars move in the opposite direction, then find the situation which can be

represented algebraically. [2]

(b) Find the speed of car x. [1]
(c) Find the speed of car y. [1]

Q-38: In a GPS, The lines that run east-west are known as lines of latitude, and the lines running
north-south are known as lines of longitude. The latitude and the longitude of a place are its
coordinates and the distance formula is used to find the distance between two places. The
distance between two parallel lines is approximately 150 km. A family from Uttar Pradesh
planned a round trip from Lucknow (L) to Puri (P) via Bhuj (B) and Nashik (N) as shown in the
given figure below.
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Based on the above information answer the following questions using the coordinate geometry.

(i) Find the distance between Lucknow (L) to Bhuj(B). [1]

(i) If Kota (K), internally divide the line segment joining Lucknow (L) to Bhuj (B) into 3 : 2
then find the coordinate of Kota (K). [1]

(ii1) Name the type of triangle formed by the places Lucknow (L), Nashik (N) and Puri (P) [2]

OR
Find a place (point) on the longitude (y-axis) which is equidistant from the points Lucknow (L)

and Puri (P). [2]

Page 7 of 7



No. of Printed Pages: 10

ATOMIC ENERGY EDUCATION SOCIETY

PERIODIC TEST- 2: Practice Paper-I

CKASS : X M.M: 80

SUB: SCIENCE (086)

General Instruction:
1. This Question Paper has 5 Sections A-E.

2. Section A has 20 MCQs carrying 1 mark each.

3. Section B has 6 questions carrying 02 marks each.

4. Section C has 7 questions carrying 03 marks each.

5. Section D has 3 questions carrying 05 marks each.

TIME: 3 HOURS

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the

values of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 1 Qs of 3 marks

and 1 Questions of 2 marks has been provided.

8. Draw neat andwell labeled diagrams where ever necessary.

S.NO SECTION - A
Questions 1 to 20 carry 1 mark each MARKS
1 A convex mirror of focal length ‘f* forms an image which is % times the object. The 1
distance of the object from the mirror is :
(a) =2 (™2 @ (n+1)f (d) (0 Df
2 Which position of the object will produce a magnified virtual image ,if a convex lens of 1
focal length 15 cm is being used ?
(@ 10 cm (b) 15cm (c) 25 cm (d) 30 cm
3. A ray of light passes from a medium X to another medium Y . No refraction of light occurs | 1
if the ray of light hits the boundary of medium Y at an angle of :
(@) 0° (b) 45° (c) 90° (d) 120°
4 The term ‘accommodation ¢ as applied to the human eye refers to : 1

(a) Its ability to control the intensity of light falling on retina

(b) control the amount of light entering the pupil




(c) erect the image formed on the retina

(d) change the focal length of the eye lens.

5. Which of the following phenomenon is involved in Tyndall Effect ?
(a) reflection of light (b) refraction of light
(c) scattering of light (d) magnification of light
6 Among the following , which part of the spectrum of the white light produces maximum
visibility?
(@)Red (b) Yellow — Green (c) Blue (d) Violet
7. In the reaction of iron with copper sulphate solution: CuSO4 + Fe — Cu + FeSO,
Which option in the given table correctly represents the substance oxidised and the
reducing agent?
OPTION Substance Oxidized Reducing Agent
(a) Fe Fe
(b) Fe FeSOs
(c) Cu Fe
(d) CuSOy Fe
8 Before burning in air, the magnesium ribbon is cleaned by rubbing with a sand paper to:
(a) Make the ribbon surface shinier
( b) Remove the layer of magnesium oxide from the ribbon surface
(c). Remove the layer of magnesium carbonate from the ribbon surface
(d) Remove the moisture from the ribbon surface
9 When a base reacts with a metal, it forms a salt and hydrogen gas is released. By what
method the presence of hydrogen can be detected?
(@) by water (b) by litmus paper
(c) by methyl orange (d) by a burning candle
10 The image shows the pH values of four solutions on a pH scale.
1 2 3 4 5 6 7 8 9 |10 11| 12| 13 | 14
o
Which solutions are alkaline in nature?
(@ Aand B (b) Band C (c)Cand D (d)Aand D
11 Which among the following is(are) double displacement reaction(s)?

() Pb+ CuCl,—  PbCl, + Cu




(i) KBr+ AgNO; ... 5, KNO3 + AgBr

(iif) C + O, — CO,

(iv) CH4 + 20, — CO, + 2H,0

(@) (i) and (iv) only (b) (ii) only (c) (i) and (ii) only (d) (i) and (iv) only

12.

The trachea is prevented from collapsing by
(a) complete cartilaginous rings (b) incomplete cartilaginous rings
(c) bony rings (d) chitinous rings.

13.

The image shows the process of photosynthesis in plants

Sunlight Oxygen

Based on the image, which component is excreted by plants during photosynthesis?

(a) Carbon dioxide (b) Glucose (c) Light energy (d) Oxygen

14.

Organisms depend on hormones as well as electric impulses for the transmission of
signals from brain to rest of the body. What can be a likely advantage of hormones over
electric impulses?

(@) It is secreted by all types of cells present in the body.

(b) It is secreted by stimulated cells and reaches all cells of the body.

(c) Itis relayed to the target organ at a faster rate than electric impulses.

(d) It does not depend on an external stimulus to be generated in the cells.

15.

The image shows the process of division in plasmodium.

Cell Division of Daughter
Cyst cell within cyst cells

What can be concluded about the division in plasmodium?
() The cyst divides repeatedly to form many daughter cells.

(b) The cell divides multiple times giving rise to many daughter cells.




(c) The nucleus divides repeatedly inside the cell to form new daughter cells.

(d) The cyst enlarges in size and then bursts producing many new daughter cells.

16. The image shows the different parts of a flower.
Stigma —
Anther
Stamen r
Filament Style —
Petal
Ovary —!
Sepal
Which part of the pistil is responsible for receiving pollen from stamen in order to perform
reproduction?
(@) anther (b) ovary (c) petal (d) stigma
DIRECTION: In the question number 17 and 20, a statement of Assertion (A) is followed
by a statement of Reason (R). Choose the correct option
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)
(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation
of assertion (A)
(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.

17 Assertion (A): Rate of breathing is slower in aquatic organisms than terrestrial organisms.
Reason (R): Amount of dissolved oxygen is low as compared to amount of atmospheric
air.

18 Assertion (A): In electrolysis of water, the volume of hydrogen liberated is twice the
volume of oxygen formed.

Reason (R): Water (H,0) has hydrogen and oxygen in the ratio of 1 : 2 by volume.
19 Assertion: The size of the mirror does not affect the nature of the image.
Reason: Small mirrors always form virtual images.
20 Assertion: A beam of white light gives a spectrum on passing through a hollow prism.

Reason: Speed of light outside a hollow prism is same as from the speed of light inside the

hollow prism.

SECTION -B
Questions 21 to 25 carry 2 marks each.




21

How the arrangement of two plane mirrors is to be done in such a way that the incident
ray and reflected ray will always be parallel to each other, whatever may be the angle of

incidence. Show the same with the help of a diagram.

22

A silver article generally turns black when kept in the open for a few days. The article
when rubbed with toothpaste again starts shining.

(i) Why do silver articles turn black when kept in the open for a few days? Name the
phenomenon involved.

(if) Name the black substance formed and give its chemical formula.

23

A student takes three beakers A, B and C filled with aqueous solutions of glucose, alcohol

and hydrochloric acid respectively as shown in the following figures :

Battery Bulb
+

ulb
2 ij witch E{ &  Switch S8 Switch

Beaker | |+ Beaker | Beaker
Graphite rod % Graphite rod Graphite rod

: — Alcohol

Glucose

Dilute hydrochloric acid

A & - 2 EC 23285
(a) State your observation in terms of glowing of bulb when the switch is 'ON'.

(b) Justify your observations by giving reason in each case.

24

Why do veins have thin walls as compared to arteries?
Or
Explain the role of the mouth in digestion of food.

25

Label the parts (a), (b), (c) and (d) and show the direction of flow of electrical signals in

Figure

26

In tobacco plant, the male gametes have twenty four chromosomes.
What is the number of chromosomes in the female gamete?

What is the number of chromosomes in the zygote?




SECTION-C

Questions 27 to 33 carry 3 marks each.

27

Study the ray diagram and answer the questions given below:
L

W

a) lIdentify the lens.

b) Complete the ray diagram to form the image of AB with proper representation of
line OL

c) Write the characteristics of the image thus formed.

28

A glass slab is placed over a page on which the word ¢ VIBGYOR’ is printed with each
letter in its corresponding colour.

a) Will the image of all letters be in the same place

b) If not, state which letter will be raised to maximum .

Give reason for your answer.

29

(a) Draw a diagram to show stomatal pore and label on it:
(1) guard cells (ii) chloroplast
(b) State two functions of stomata.

(c) How do guard cells regulate the opening and closing of stomatal pore?

30.

Draw the structure of a neuron and explain its function

31

Distinguish between pollination and fertilisation. Mention the site and product of

fertilisation in a flower.

32.

On adding a drop of barium chloride solution to an aqueous solution of sodium sulphate,
white precipitate is obtained.
(a) Write a balanced chemical equation of the reaction involved
(b) What other name can be given to this precipitation reaction?
(c) Give another example of precipitate reaction other than given in the question.
Or
Identify the substance that is oxidized and the substance that is reduced in the following
reactions:
(@) ZnO(s) + C(s) — Zn(s) + CO(g)
(b) 4Na(s) + O,(g) — 2Na0(s)
(c) CuO(s) + Ha(g) — Cu(s) + HO(I)




33

(i) A green salt on heating decomposes to produce a colourless suffocating gas and leaves

behind a reddish brown residue. Name the salt and write the decomposition reaction

Wafting gas gently
towards nose

Do not point the
mouth of boiling tube \{
at your neighbours or

yourself

Boiling tube
Green salt

Burner

(if) What happens when a piece of aluminum metal is added to dilute hydrochloric acid?

SECTION-D
Questions 34 to 36 carry 5 marks each.

34

a) Give scientific reasons for the following:
i)Stars twinkle but planets do not twinkle
i) danger signals are painted red
iii) It takes some time to see the objects in a cinema hall, when we just enter the hall.

b) What is dispersion of white light? What is the cause of Dispersion of light? Give
any one example of dispersion of Sun light in nature.
OR
a) What is Hypermetropia? List the causes for the development of this defect. How
can this defect be corrected.? Describe with ray diagram how this defect may be
corrected using spectacles.
b) The near point of a hypermetropic eye is 1 m. What is the power of the lens required

to correct this defect.

35

In the following schematic diagram for the preparation of hydrogen gas as shown in

Figure what would happen if following changes are made?




Deltvery tube
Burning of hydrogen
\ywﬁ gas with a pop sound
Candle
O R,

(O)——————soap bubble filled
with hydrogen

Stand —

=

Test tube ———

Dilute
sulphuric
actd

Zinc granules

e\

(@) In place of zinc granules, same amount of zinc dust is taken in the test tube?

e S0
solution

(b) Instead of dilute sulphuric acid, dilute hydrochloric acid is taken?

(c) In place of zinc, copper turnings are taken?

(d) Sodium hydroxide is taken in place of dilute sulphuric acid and the tube is heated?
Write the equation also.

36 (a) Explain the three pathways of breakdown of glucose in living organisms.
(b) Write any two differences between the two ways of oxidation of glucose in organisms.
Or
(a)Draw a schematic representation of transport and exchange of oxygen and carbon dioxide during
transportation of blood in human beings and label on it:
Lung capillaries, Pulmonary artery to lungs, Aorta to body, Pulmonary veins from lungs.
(b) What is the advantage of separate channels in mammals and birds for oxygenated and
deoxygenated blood
SECTION - E(Case Study Based Questions)
Questions 37 to 39 carry 4 marks each.
37 Case Study -1

A student focused the image of a candle flame on a white screen using a convex lens. She
noted down the position of the candle , screen and the lens as given below:
Position of candle = 12 cm ;position of convex lens =50 cm
Position of the screen =88 cm
a) Find the focal length of the convex lens
b) What will be the nature of the image thus formed.

Draw a ray diagram to show the formation of the image




38

Case Study - 2
Read the given passage and answer the questions based on passage and related
studied concepts.
Salts are formed by reactions of acids and bases, strong acids react with strong bases to
form neutral salt. Weak acids react with strong bases to form basic salts whose aqueous
solution turned red litmus blue, phenolphthalein pink and universal indicator blue. Acidic

salts are formed by strong acids and weak bases.

Na,CO3; and NaHCOs are salts of NaOH (strong base) and H,CO3 (Carbonic acid) weak
acid and are basic in nature. Electrolysis of brine solution gives caustic soda (NaOH), H,
gas and Cl,. Bleaching powder (CaOCl,) is prepared when slaked lime reacts with dry
chlorine gas used as disinfectant, washing soda is used to remove permanent hardness of
water. Crystalline salts are hydrated and lose water of crystallisation on heating, may
change colour and become amorphous (powdery). Gypsum on heating at 373K gives
Plaster of Paris, used in making chalk, plastering fractured bones. NaHCOj3 is baking soda
used in making crisp pakora and as antacid.
(a) Write chemical formula of Plaster of Paris.
(b) A visually challenged student has to perform the presence of acidic salt in given
solution. The acid base indicator used by him will be?

(c) Sulphuric acid reacts with milk of magnesia, the salt formed is? Write the equation.

1+1+2

39

Case Study -3
Read the passage carefully and answer the questions given below.

PRI pinea giana VP
F = N A incal glan /N = )
Hypothalamus -;'!}r:g—‘éi }lypot}laja:xlt:s,+‘-.4\( SN E Pineal gland
’, Etfattary ghind = Pituitary gland
Ml =80\
&%« Thyroud gland
< <«——Thyrotd glan Thyroid gland

Parathyroid —————— Parathyroid 1yroid gland
glands glands
Thymus

— Adrenal glands

r “ !“(A Ovary

Testis ———d}

1+1+2




A gland P is located just below the stomach in the human body. The gland P secretes a
hormone Q. The deficiency of hormone Q in the body causes a disease W in which the

blood sugar level of a person rises too much. person having high blood sugar is called X.
(@) Name gland P.

(b) Name hormone Q.
(c) Mention one function of hormones

(i) Thyroxine (i)Adrenaline
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1.

This question paper contains 39 questions in 5 sections.

All questions are compulsory. However, an internal choice is provided
In some questions. A student is expected to attempt only one of these
guestions.

Section A consists of 20 objective type questions carrying 1 mark each.
Section B consists of 6 very short answer questions carrying 2 marks
each. Answer to these questions should be in the range of 30 to 50
words.

Section C consists of 7 short answer questions carrying 03 marks each.
Answer to these questions should be in the range of 50 to 80 words.
Section D consists of 3 long answer type questions carrying 05 marks
each. Answer to these questions should be in the range of 80 to 120
words.

Section E consists of 3 source based / case based questions carrying 04
marks each with sub parts.

Section-A

A student finding the focal length of a given concave mirror, obtains the image of a
distant tree on the screen with respect to the object, the image will be-

(a) Diminished and erect
(b) Diminished and inverted
(c) Enlarged and erect

(d) Enlarged and inverted

2. During an experiment to find out the focal length of convex lens a student got a clear
image of a test object at a far distance on the screen but he did some mistake in making
measurement as shown in the diagram. The mistake is—



n
.- lens Scree
b o \

' lens holder L
/ distance scale

optical bench

(a) Distance of screen from object was not measured
(b) Object distance was not measured

(c) Lens was not adjusted properly

(d) Distance of image was not measured from the optical centre of the lens

3. While drawing the ray diagram for the formation of image by a convex lens, a student
made a mistake and was unable to draw the correct diagram. The possible mistake could be-

(i.) Line showing parallel to principal axis was not exactly parallel

(i1.) The focal points might not have been marked at equal distance on either side of the laws
(iii.) The line through the focus may not be of the correct slope.

(iv.) The location of the intersection of two lines cannot be determined with complete
accuracy.

Out of the above, the probable mistake(s) could be-

() Only (i) (b) Only (ii) () Only (iii) and (iv) (d) All are possible

4. Consider these indices of refraction: glass: 1.52; air: 1.0003; water: 1.333. Based on the
refractive indices of three materials, arrange the speed of light through them in decreasing
order.

() The speed of light in water > the speed of light in air > the speed of light in glass

(b) The speed of light in glass > the speed of light in water > the speed of light in air.

(c) The speed of light in air > the speed of light in water > the speed of light in glass.

(d) The speed of light in glass > the speed of light in air > the speed of light in water.

5. CaO (s) + H,O (I) — Ca(OH); (aqg) + Heat
The above reaction is an example of :
(a) Combination reaction
(b) Displacement reaction
(c) Double displacement reaction
(d) Decomposition reaction

6. Which of the following statements about the reaction given below are correct:
2PbO (s) + C(s) — 2Pb(s) + CO, ()
(i)Lead is getting reduced.
(i) Carbon dioxide is getting oxidised.
(iii)Carbon is getting oxidised.
(iv) Lead oxide is getting reduced.
(@ iandii (b)iandiii (c)i,iiandiii (d) All



7. A solution reacts with crushed egg shells to give a gas that turns lime water milky.
The solution contains:
(@) NaCl (b) HCI (c) LiClI (d) KCI

8. Which one of the following types of medicines is used for treating indigestion:
(a) Antibiotic (b) Analgesic (c) Antacid (d) Antiseptic

9. Three solutions X, Y and Z having pH values 3, 4 and 5 respectively. The solution
with the least hydrogen ion concentration is:
@ X (b)Y (c)Z (d) All have equal concentration

10. The reaction in which exchange of ions takes place is:
(@) Na;SO, (aq) + BaCly(agq) — BaSO, (s) + NaCl(aq)
(b) Kl (aq) + Pb(NO3), (aq) — Pbl (s) + KNO; (aq)
(c) Both of the above
(d) None of the above

11. For the following reaction; MnO; + 4HCI —s MnCl, + 2H,0 + Cl,
Select the correct option:
(a)HCl is oxidised to H,O
(b) HCI is oxidised to Cl,
(¢) MnO; is reduced to MnCl,
(d) Both “b” and “c” are correct

12. The correct representation for the reaction: Fe + H,O — Fe30,4 + H; in balanced form
is:
(a) 3 Fe+ 3H,O — Fe304+ 3 H, (b) 6 Fe + 4H,0 — 2 Fe3z0O4 + 2 Hy
(C) 3Fe+4 H,O — Fe304+4 H> (d) 6 Fe + 3H,O — Fe3zO4 + 3 Hy

13. Name the blood vessel which carries deoxygenated blood from the heart to the
lungs:
(a) Capillaries (b) Pulmonary vein (c) Pulmonary artery (d) Aorta

14. Posture and balance of the body is controlled by.
(@) Pons (b) Medulla (c) Cerebrum (d) Cerebellum

15. Oxygen liberated during photosynthesis comes from
(a) Carbon dioxide (b) Water (c) Glucose (d) Chlorophyll

16. In which of the following groups of organisms, food material is broken down outside the
body and absorbed?
(a) Mushroom, green plants, Amoeba
(b) Yeast, mushroom, bread mould



(c) Paramecium, Amoeba, Cuscuta
(d) Cuscuta, lice, tapeworm

17. Asexual Reproduction takes place through budding in
(a) Amoeba (b) Yeast (c) Plasmodium (d) Leishmania

Question number 18 to 20 consist of two statements: Assertion (A) and reason (R). Answer
these questions selecting the appropriate option given below:

(a) Both assertion and reason are true and reason is the correct explanation of assertion.
(b) Both A and R are true but R is not the correct explanation of A.

(c) Alis true but R is false.

(d) A is false but R is true.

18. Assertion: Brown fumes are produced, when lead nitrate is heated.

Reason: Nitrogen oxide gas is produced, as a by product due to decomposition of lead
nitrate.

19. Assertion: Sodium hydrogen carbonate is used to reduce acidity in the stomach.
Reason: Being alkaline in nature it neutralises excess acid.

20. Assertion : The walls of ventricles are thicker than those of the atria.
Reason : Ventricles have to pump blood into various organs at high pressure.

Section-B

21. Why does the sky appear blue to an observer from the surface of earth? What will be the
colour of the sky for an astronaut in a space station? Give reason for your answer.  (2)

22. An object of height 2 cm is placed at a distance of 30 cm from a convex lens of focal
length 10 cm. Find the position, and height of the image. 2
OR

A 10 cm long pencil is placed 5 cm in front of a concave mirror having a radius of
curvature of 40 cm.

(i)Determine the position of the image formed by this mirror.

(if) What is the size of the image?

23.Write one equation each for the decomposition reactions where energy is supplied in the

form of heat and light. 2
24.What is the importance of DNA copying in reproduction? 2
25. (a) Name a plant hormone that promotes cell division. 2

(b) Give an example of plant hormone that inhibits growth.

26. Differentiate between arteries and veins. (2)



Section-C

27.Rohit wants to have an erect image of an object using a converging mirror of focal length

40 m. 3)
(a)Specify the range of distance where the object can be placed in front of the mirror.
Justify.

(b) Draw a ray diagram to show image formation in this case.
(c) State one use of the mirror based on the above kind of image formation.

28.(a) What is meant by power of a lens? You have three lenses L, L, and L3 of powers
+10D, +5D and -10D respectively. State the nature and focal length of each lens.
(b) Explain which of the three lenses will form a virtual and magnified image of an object
placed at 15 cm from the lens. Draw the ray diagram in support of your answer. (3)

29. (i) Explain why the refractive index of any material with respect to air is always greater 1.
(ii) In the figure below a light ray travel from air into the semi-circular plastic block.
Give a reason why the ray does not deviate at the semi-circular boundary of the
plastic block.
R i
R et
A I il

b mﬁi

(iii)Complete the ray diagram of the above scenario when the light ray comes out of the
plastic block from the top flat end. 3

30. Give suitable reasons for the following: (3)

(a) Dry HCI gas does not change the colour of the dry litmus paper.
(b) Plaster of Paris should be stored in moisture proof container.
(c) Baking powder is generally added for preparation of cakes and bread.
OR
(@) Which gas is usually liberated when an acid reacts with metal? How will you test
the presence of this gas?
(b) Why toothpastes are generally basic in nature?

31. Write the balanced chemical equations for the following: (3)
(a) Barium chloride + Potassium sulphate — Barium sulphate + potassium chloride
(b) Potassium bromide + Barium iodide — Potassium iodide + Barium bromide
(c) Zinc + Silver nitrate — Zinc nitrate + Silver



32. Name the parts A, B and C shown in the following diagram and state one function of each.

©)

33. What are reflex actions? Give two examples. Explain a reflex arc. (3)

Section-D

34. A person cannot see objects nearer than 75 cm but can clearly read the banners placed on
the roadside from a distance. 5)

a) Name the defect of vision he is suffering from.

b) List two causes of this defect of vision.

c) How can it be corrected?

d) Draw ray diagrams showing the (i) defective eye (ii) corrected eye.
OR

What is dispersion of white light? State its cause. Draw a labelled diagram to show dispersion
of white light by a glass prism. How will you use two identical glass prisms to obtain white
light? Draw ray diagram to illustrate it.

35. (a) What is neutralisation reaction? Give one example. (5)
(b)Write an equation to show the reaction between Plaster of Paris and water.
(c)Write the chemical formula of the compound formed, when chlorine gas reacts with
slaked lime?
(d)Baking powder is a mixture of two chemicals. Name them?

OR

(a)Compounds like alcohols and glucose also contain hydrogen but are not categorised as
acids. Why?

(b)What happens if excess of CO; is passed through lime water? Write chemical equation.

(c)Identify the number of water of crystallisation molecules in (i) Na;COg (ii) CuSQO4

(d)Give two important uses of washing soda.

36. (a) Write the functions of the following parts in human female reproductive system: (5)
(i) Ovary  (ii) Oviduct  (iii) Uterus
(b) Describe the structure and function of placenta.

OR
(@) Identify A,B,C and D in the following diagram.
(b) What is the function of part D?



Bladder

Testis

(c) List out the 03 methods to avoid fertilization and in turn pregnancy to maintain healthy
reproductive health.

Section-E

37.

Noor, a young student, was trying to demonstrate some properties of light in her science
project work. She kept ‘X’ inside the box (as shown in the figure) and with the help of a laser
pointer made light rays pass through the holes on one side of the box. She had a small butter-

paper screen to see the spots of light being cast as they emerged. (@)

(i) What could be the ‘X’ that she placed inside the box to make the rays behave as shown?
(a) a converging lens (b) a parallel-sided glass block
(c) a plane mirror (d) a triangular prism

(ii) She measured the angles of incidence for both the rays on the left side of the box to be
48.6°. She knew the refractive index of the material ‘X’ inside the box was 1.5. What
will be the approximate value of angle of refraction?

(a)45°  (b)40° (c)30°  (d)60° (use the value: sin 48.60 = 0.75)

(iii) Her friend noted the following observations from this demonstration:
i. Glass is optically rarer than air.
ii. Air and glass allow light to pass through them with the same velocity.
iii. Air is optically rarer than glass.
iv. Speed of light through a denser medium is faster than that of a rarer medium.
v. The ratio: sin of angle of incidence in the first medium to the ratio of sin of angle of
refraction in the second medium, gives the refractive index of the second material with

respect to the first one. Which one of the combinations of the above statements given
below is correct?



(@) ii, iv and v are correct. (b) iii and iv are correct.
(c) i, ivand v are correct. (d) iii and v are correct.
(iv) If the object inside the box was made of a material with a refractive index less than 1.5
then the:
(@) Lateral shift of the rays would have been less.
(b)Lateral shift of the rays would have been more.
(c) Lateral shift of the rays would remain the same as before.
(d) There is not enough information to comment on any of the above statements

38. If a substance gains oxygen during a reaction, it is said to be oxidised and if a substance
looses oxygen during a reaction, it is said to be reduced. A student was conducting an
experiment to understand this process. He took a chin dish containing about 1 gram
of copper powder and it was heated for few minutes. Afterwards he noted that a black
coloured substance was observed. 4
(a) Write the chemical formula of this black substance formed?

(b) What is the oxidation state or charge on copper in the compound formed above in part
(g
(c) What happens if the hydrogen gas is passed through the black coloured substance formed
in the part “a” above?
OR
(d) What happens if the magnesium ribbon is burnt in air? Is magnesium is oxidised or
reduced in this reaction?

39. The given diagram represents the human endocrine system. Study the diagram and answer
questions. 4)

(©

(D)

(E)

(a) Identify the endocrine glands A, B, C & E in the given diagram.
(b) Which gland secretes digestive enzymes as well as hormones?
(c) What is the effect of chemical produced by gland F?

OR
Name the endocrine glands which is unpaired? Explain.
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General Instructions:

Read the following instructions very carefully and strictly follow them:
(1) This question paper comprises 39 questions . All questions are compulsory.
(1) This question paper is divided into five sections- A,B,C,D and E.
(iii) Section A-Questions No . 1 to 20 are Multiple Choice Questions. Each question carries
1 mark
.(iv) Section B-Questions No. 21 to 26 are Very Short Answer type questions .Each question
carries 2marks . Answer to these questions should be in the range of 30 to 50 words.
(v) Section C-Questions No. 27 to 33 are Short Answer type questions .Each question
carries 3 marks . Answer to these questions should be in the range of 50 to 80 words.
(vi) Section D-Questions No. 34 to 36 are Long Answer type questions .Each question
carries 5 marks . Answer to these questions should be in the range of 80 to 120 words.
(vii) Section E-Questions No. 37 to 39 are of 3source - based / case-based units of
assessment carrying 4 marks each with sub-parts.
(viii) There is no overall choice. However , an internal choice has been provided in some
sections. Only one of the alternatives has to be attempted in such questions.
SECTION A
Select and write the most appropriate option out of four options given for each of the question

no. 1 to 20 . There is no negative marking for incorrect response.

(20 x 1 =20)
1. FeO3 + 2Al ——mememeeme > AlL,O; + 2Fe
The above reaction is an example of a
(A) combination reaction (B) double displacement reaction
(C) decomposition reaction (D) displacement reaction
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2. In order to balance the following chemical equation , the values of the coefficients x and y

respectively are :

X Pb(NO3), Heat > 2PbO + yNO; + O,
(A) 2,4 B)2,2 ©) 2,3 (D) 4,2
3. When zinc reacts with sodium hydroxide , the product formed is :
(A) Sodium oxide (B) Sodium zincate
(C) Zinc hydroxide (D) Zinc oxide

4. Select the correct option from the following:

Salt Parent Acid Parent base Nature of salt
A Sodium acetate CH3;COOH NaOH Neutral
B Sodium carbonate H,CO3 NaOH Basic
C Sodium chloride HCI NaOH Acidic
D Sodium nitrate HNO; NaOH Acidic

5. 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL of a given
solution of HCI . If we take 20 mL of the same solution of NaOH , the amount HCI
solution (the same solution as before) required to neutralise it will be

(A) 4mL (B) 8 mL (C)12mL (D) 16 mL

6. Sphincter muscles are present at the exit of :

(A) Stomach and small intestine (B) Stomach and anus
(C) Small intestine and large intestine (D) Oesophagus and stomach
7. During vigorous exercise , the occurrence of cramps in the outer muscles of an athlete
is due to the conversion of pyruvate to :
(A) Glucose (B) Ethanol (C) Lactic acid (D) Lactose

8. Plants which bear unisexual flowers are :

(A) Mustard and Papaya (B) Hibiscus and Watermelon
(C) Mustard and Hibiscus (D) Watermelon and Papaya

9. A plant growth inhibitor hormone which causes wilting of leaves is called :

(A) Auxin (B) Cytokinin (C) Abscisic acid (D) Gibberellin
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10. The anther contains

(A) sepals (B) ovules (C) carpels (D) pollen grains
11.Colour of sky appears blue, due to the

(A) atmospheric refraction (B) presence of plants in water

(C) scattering of light (D) none of these

12.Which of the following controls the amount of light entering the eye

(A) pupil (B) iris (C) cornea (D) lens
13 .If an object is placed at Focus of concave lens, the image is formed due to concave lens

(A) atinfinity  (B) within focus  (C) beyond focus (D) twice the focal length

14.The change of focal length of eye lens is caused by the action of the

(A) ciliary muscles  (B) iris  (C) cornea (D) pupil
15.Name the type of image that can be obtained on the retina

(A) Real and erect (B) Virtual and erect (C) Real and inverted (D) virtual and inverted
16.A student determines the focal length of a device X, by focusing the image of a far off object

on the screen positioned as shown in the figure below:

The device Xisa:

(A) Convex lens (B)Concave mirror (C) Concave lens (D) Convex mirror
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For Questions Numbers 17 to 20, two statements are given - one labelled Assertion (A)
and the other labelled as Reason (R). Select the correct answer to these questions from
the codes (A), (B) ,(C) and (D) as given below:

(A) Both Assertion (A) and Reason (R) are true, and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false , but Reason (R) is true

17. Assertion (A): Hydrochloric acid helps in the digestion of food in the stomach.
Reason (R): Hydrochloric acid creates an acidic medium to activate protein
digesting enzymes.
18 Assertion (A): When a bacterium divides into two , and the resultant two bacteria
divide again , the four bacteria produced would be almost similar..
Reason (R): DNA copying involves small inaccuracies in the reproduction
process.
19 Assertion (A): The phenomenon of scattering of light by the colloidal particles gives rise to
Tyndall effect..
Reason (R) : The colour of the scattered light depends on the size of the scattering
particles.
20.  Assertion (A): Nerve impulse is a one way conduction.

Reason (R): Nerve impulse is transmitted from dendrite to axon terminals.

SECTION B (2 x6=12)
Questions no. 21 to 26 are very short answer type questions .
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21. (a) What is observed when agueous solutions of potassium iodide and lead nitrate
are mixed together ? Name the type of reaction and write the chemical equation for
the reaction that occurs. 2
OR
(b) When copper powder is heated in a watch glass , a black substance is formed.
(i) Why is this black substance formed ? Name it.
(i1) How can this black substance be reversed to its original form ?
22. A solution of a substance " X" is used for white washing .
(i) Name the substance " X" and write its formula .
(if) Write the reaction of the substance "X" named in (i) above with water. (2
23. (a) We need to water the soil in plants on a regular basis. But it ultimately reaches
the leaves of the plant. Explain how this takes place. (2)
OR
(b) Name the type of nutrition exhibited by Amoeba . Explain how food is taken in
and digested by this organism.
24. Name the part of brain which is responsible for the following actions :
(i) Maintaining posture and balance

(ii) Beating of heart

(iii) Thinking
(iv) Blood pressure (2)
25. With the help of a diagram, show recombination of the spectrum of white light. (2)
26. Why do we prefer a convex mirror as a rear-view mirror in vehicles? (2)
SECTION C (3 x7=21)

Questions no. 27 to 33 are short answer type questions.
27. (a) Why does not distilled water conduct electricity whereas rain water does?

(b) Why do acids not show acidic behaviour in the absence of water ?

(c) Plaster of Paris should be stored in a moisture -proof container. Explain why ?(3)
28. What are the three products of ' Chlor- akali process' ? Write one commercially 3)

or industrially important material each that can be prepared from each of these products?
29. Write two examples each of Sexually Transmitted Diseases (STD) caused by
(i) Virus
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(ii) Bacteria

Explain how the transmission of such diseases be prevented . (3)
OR
(a) Describe in brief the functions of the following parts in human male reproductive
system :
(i) Testes (ii) Seminal vesicle (iii) Vas deferens (iv) Urethra

(b) Why are testes located outside the abdominal cavity ?
30. What are the different pathways by which break-down of glucose take place

to provide energy in various organisms? Explain. 3)

31. If the image formed by a lens for all positions of an object placed in front of it is always
erect and diminished, what is the nature of this lens? Draw a ray diagram to justify your answer.
If the numerical value of the power of this lens is of 10 D, what is its focal length in the
Cartesian system . (3)
32.Explain why:

(a) stars twinkle

(b) planets do not twinkle.

(c) the sky appears dark instead of blue to an astronaut 3

33. A person has been advised by a doctor to reduce his sugar intake :
(i) Name the disease he is suffering from and name of the hormone whose
deficiency causes it.
(i1) Identify the gland that secretes it and mention the function of this hormone.
(iii) Explain how the time and amount of secretion of this hormone is regulated in
human system. 3
OR

Which part of nervous system controls reflex action ? With the help of a diagram trace

the sequence of events which occur when we touch a hot object. Mention the part of

the neuron that acquires information and the form in which information travels.
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SECTION D (5 x 3=15)
Question no. 34 to 36 are long answer type questions.
34. (a) With the help an activity explain that hydrogen and oxygen are released when
an electric current is passed through water.
(b) What change in colour observedwhen white silver chloride is left exposed to

sun light ? State the type of chemical reaction in this change. (5)

OR

(@) What is the difference between displacement and double displacement

reactions ? Write examples for these reactions.
(b) Oil and fat containing food items are flushed with nitrogen . Why ?

35. (a) A student suffering from myopia is not able to see distinctly the objects placed beyond 5
m. List two possible reasons due to which this defect of vision may have arisen. With the
help of ray diagrams, explain :

(i) Why the student is unable to see distinctly the objects placed beyond 5 m from his
eyes?

(ii) The type of the corrective lens used to restore proper vision and how this defect is
corrected by the use of this lens.

(b) If, in this case, the numerical value of the focal length of the corrective lens is 5 m,
find the power of the lens as the new Cartesian sign convention. (5)

OR

(a) What is meant by the term ‘power of accommodation’? Name the component of eye
that is responsible for the power of accommodation.

(b) A security mirror used in a big showroom has radius of curvature 5 m. If a customer
is standing at a distance of 20 m from the mirror, find the position, nature and size
of the image formed in the security mirror.

36. (a) Draw excretory system in human beings and lebel the following organs

of excretory system which perform following functions:
(i) Form urine
(i) Is a long tube which collects urine from kidney.

(iii) Store urine until it is passed out.
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(b) How is urine produced ? Explain the process of urine formation. (5)
OR
(@) (i) Write one structural difference between the composition of artery
and vein.

(i) Trace the movement of oxygenated blood in the body.

(iii) Write the function of valves present in between atria and ventricles.
(b) Why is it necessary to separate oxygenated and deoxygenated blood in mammals

and birds.?

SECTION E (4 x3 =12)
The following questions are source-based/ case based questions.. Read the case carefully and
answer the questions that follow.
37. When a ray of light incident on a prism it will split in seven colours that is called dispersion
of light. A prism is a transparent refracting body bounded by plane faces which are inclined to
each other at a particular angle called angle of prism.. When a ray of light passes through a
prism, it suffers refraction twice and hence the ray deviates through a certain angle from its
original path. The angle between the incident ray and emergent ray is called angle of deviation.
(a). For which colour, the angle of deviation is minimum? 1)
(b) When a white light falls on a prism, the ray at its surface suffers: Q)
(A) Refraction only (B) dispersion only (C) deviationonly (D) all of above
(c) What are the cause of dispersion of light. (2)
(OR)

(c) Define Spectrum of white light & write the colour of spectrum in ascending order with

respect to wavelength. @)
38. Acids, bases and salts are three main categories of chemical compounds. These have certain
definite properties which distinguish one class from the other. The acids are sour in taste while
bases are bitter in taste. Testing a substance is not a good way of finding out if it is an acid or a
base. Acids and bases can be better distinguished with the help of indicators. Indicators are
substances that undergo a change of colour with a change of acidic, neutral or basic medium.
Many of these indicators are derived from natural substances such as extracts from flower petals

and barrier. Litmus , a purple dye is extracted from the lichen plant. Some indicators are
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prepared artificially. For example, methyl orange and phenolphthalein . Given below is a table

of indicators and their colour change in acidic and basic medium.

Indicator Colour in Acid Colour in Alkali
Litmus Red Blue
Methyl orange Pinkish red Yellow
Phenolphthalein Colourless Pink
(a) Give two examples each of natural and artificial indicators. (1)

(b) An aqueous solution turns red litmus solution blue. Excess addition of which
solution would reverse the change - ammonium hydroxide or hydrochloric acid ? (1)
(c) What will be the change in colour when a few drops of phenolphthalein is added
to a solution having pH 8.57? (2)
OR
(c) What is universal indicators ? (2
39. All the reproductive methods of living organisms are broadly categorized into two types :
1.. Asexual reproduction and 2. Sexual reproduction
Asexual reproduction involves the participation of a single parent without the formation of
gametes, fertilisation and transfer of genetic material. This method is a common
means of rapidly increasing offsprings under favourable conditions.
(a) Name the type of fission that occurs in Leishmania and Plasmodium . Q)
(b) Write one advantage of sexual mode of reproduction over asexual

reproduction

(1)
(c) Give reasons why :
(i) Colonies of yeast fail to multiply in water but multiply in sugar solution.
i) Rhizopus individuals do not grow on a dry slice of bread . 2

OR
(c) Name the filamentous structures a student could identify when he collected
water from a pond that appeared dark green. How do these organisms multiply ?
Explain. 2
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AT fAr / General Instructions:

1. The question paper comprises of six sections — A, B, C, D, E and F. There are 37
questions in the Question paper. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2
marks each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 marks
each. Answer to each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub
questions and are of 4 marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be attempted.

9. In addition to this, separate instructions are given with each section and question,
wherever necessary.

Section A - MCQs

(20X1=20)
1 Who among the following hosted the “Vienna Congress”
A. Duke Metternich B. Giuseppe Mazzini
C. Count Cavour D. Otto von Bismarck

2. Who were the Junkers?

A. Soldiers of Bismarck B. Large landowners of Prussia
C. Nobility of Russia D. Aristocrats

Page 1 of 8



3. Which one of the following is not true regarding the “Balkan Problem”

A. The Balkans were not under the control of Ottoman Empire.

B. The Balkan states were very jealous of each other.

C. Each state wanted to gain more territory under the control of ottoman empire

D. The Balkan were also the scene of big power Rivalry

4. Choose the correct option, related to the founders of the “Swaraj Party” Within congress .
A. C R Das and Motilal Nehru

B. Jawaharlal Nehru and Sardar Patel

C. Mahatma Gandhi and Jawaharlal Nehru

D. Subhash Chandra Bose and Sardar Patel

5. Why was the Simon Commission sent to India?

A. to look into the Indian Constitutional matter and suggest reform

B. to choose members of Indian council

C. to settle disputes between the government and the Congress leaders

D. to set up a government organisation

6 .Which one of the following term is used to identify the old and new alluvial respectively?

A. Khadar &Tarai B. Bangar and Khadar

C. Tarai and Duar D. Tarai and Bhangar

7. Which one of the following is a leguminous crop?

A. Pulses B. Jowar

C. Rice D. Wheat

8. Which village in Karnataka has earned a rare distinction of being rich
in rainwater?

A. Bijapur B. Gendathur

C.Kolar D.Karwar
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9.’Education ‘falls under which one of the following lists given in the Indian constitution.
A. Union list B. State list C. Concurrent list D. Residuary list

10. Which local government works at district level?

A. Panchayat samiti B. Zila Parishad

C. Gram Panchayat D. Mandal samiti.

11. There are two statements given below, marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option.

Assertion (A): Power sharing is good.

Reasoning (R): It helps to reduce the possibility of conflicts between social groups.

(A)  Alistrue but R is false. (B)  Alsfalse but R is true.

(C) Both A and R are true and R explains A.

(D) Both A and R are true but R does not explain A

12.In which one of the following country ‘principle of Majoritarianism’ led to civil war

A. Pakistan B. Sri Lanka

C. Belgium D. India

13. Which are the basic objectives of a federal system?

A. To safeguard and promote unity of the country ~ B. To accommodate regional diversity

C. To share powers among different communities  D. To resolve conflicts

14. Literacy measures the proportion of literate population in the ------ age group
A. 5 and above B. 6 and above
C. 7 and above D. 8 and above

15. Per capita income refers to ----------

A. Whole income of the country B. Average income of the country
C. Average income of an individual D. Income of the rich people.

16. BMI is a method of finding out which of the following?

A. Health status B. Infant mortality

C. Longevity D. Economic status
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17. Production of a commodity, mostly through the natural process is an activity in ---------
sector

A. Tertiary sector B. Secondary sector
C. information sector D. Primary sector

18. Bhoodan-Gramdan movement was initiated by ----------

A. Mahatma Gandhi B. Jawaharlal Nehru

C. Vinoba Bhave D.Bal Gangadhar Tilak

19. Kamal uses high yielding variety (HYV) seeds and chemical fertilisers to increase his
wheat production .Which type of farming is practiced by Kamal?

A Intensive Subsistence farming B.Primitive Subsistence farming
C Commercial farming D. Organic farming.
20 A-mmmmmmeeeee is a type of forest over which the government has property rights.
A Sacred groves B Unclassed forest
Commercial plantation D Reserve forest
Section B - VERY SHORT ANSWER QUESTION (4x2=8)
21.What was Napoleonic code ? 2
22. Explain the difference between organized sector and un organized sector. 2

23 (a) How is power shared among different organs of the Government ?

OR 2
(b) .What is meant by secular state ?

24 What is Rainwater Harvesting system? Which state in India has made this system
compulsory. 2

Section C - SHORT ANSWER- QUESTIONS (5x3=15)

25.(a) Describe the Satyagraha movement launched by Gandhiji just after his return to India
from South Africa.

Or 3
(b).What did Liberal Nationalism stand for in early nineteenth century Europe?

26. Explain the Institutional reforms taken for the development of Indian Agriculture.3
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27. Explain the different aspects of life in which women are discriminated or disadvantaged
in India. 3

28. How did MGNREGA 2005 bring upliftment of the rural people? 3

29“Religion can never be separated from politics” who said this statement. Explain the
meaning of the statement. 3

Section D LONG ANSWER- QUESTIONS (5X4=20)
30 (@) Which social groups participated in the Civil Disobedience movement why

OR 5
(b). ) How did the Non co-operation movement unfold in towns? Why was the Non co-
operation movement withdrawn?

31.(a)What is soil erosion?Explain any four methods to control soil erosion.
or 5
(b) Explain the ecological problems being faced due to multipurpose river valley projects?
32.(a) Differentiate between UNDP Report and World Bank Report.

Why is UNDP Report more reliable of the two.
OR 5
(b) Explain why service sector is gaining more importance in the global economy.
33. What is Federalism? Explain two types of Federal system.
Or 5

What is decentralisation. Explain any four provisions that have been made towards
decentralisation in India after the constitutional Amendment in 1992.

Section E (Case —Based /Source —Based Questions )

34.Read the given source and answer the questions that follow:

Parallel to the revolts of the poor, unemployed and starving peasants and workers in many
European countries in the year 1848, a revolution led by the educated middle classes was
underway. Events of February 1848 in France had brought about the abdication of the
monarch and a republic based on universal male suffrage had been proclaimed. In other parts
of Europe where independent nation-states did not yet exist — such as Germany, Italy, Poland,
the Austro-Hungarian Empire — men and women of the liberal middle classes combined their
demands for constitutionalism with national unification. They took advantage of the growing
popular unrest to push their demands for the creation of a nation-state on parliamentary
principles — a constitution, freedom of the press and freedom of association.
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In the German regions, a large number of political associations whose members were middle-
class professionals, businessmen and prosperous artisans came together in the city of
Frankfurt and decided to vote for an all-German National Assembly. On 18 May 1848, 831
elected representatives marched in a festive procession to take their places in the Frankfurt
parliament convened in the Church of St Paul. They drafted a constitution for the German
nation to be headed by a monarchy subject to a parliament. When the deputies offered the
crown on these terms to Friedrich Wilhelm 1V, King of Prussia, he rejected it and joined
other monarchs to oppose the elected assembly.

While the opposition of the aristocracy and military became stronger, the social basis of
parliament eroded. The parliament was dominated by the middle classes who resisted the
demands of workers and artisans and consequently lost their support. In the end, troops were
called in and the assembly was forced to disband.

34.1 Why did the Frankfurt Parliament fail to achieve its goal? 2

34.2 What was the strong demand of the emerging middle-classes in Europe during the
19th century? 1

34.3 Who drafted the constitution for the German nation to be headed by monarchy? 1

35.Read the given source and answer the questions that follow:

1 he Belgian leaders took a ditferent path. 1hey recognised the existence of regional
differences and cultural diversities. Between 1970 and 1993, they amended their
constitution four times so as to work out an arrangement that would enable everyone to live
together within the same country. The arrangement they worked out 1s different from any
other country and 1s very innovative.Apart from the Central and the State Government, there
is a third kind of government. This ‘community government’ s elected by people belonging
to one language community — Dutch, French and German-speaking — no matter where they
live. This government has the power regarding cultural, educational and language-related
issues. It 1s very complicated, even for people living in Belgium. But these arrangements
have worked well so far. They helped to avoid civic strife between the two major
communities and a possible division of the country on linguistic lines. When many countries
of Europe came together to form the EuropeanUnion, Brussels was chosen as its

headquarters.
35.1 Which was chosen as the headquarters of the European Union? 1
35.2 Who elects the community government in Belgium? 1
35.3. What are the benefits of Community government ? 2
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36. Read the given source and answer the questions that follow:

Suppose for the present that a particular country is quite developed. We would certainly like
this level of development to go up further or at least be maintained for future generations.
This 1s obviously desirable. However, since the second half of the twentieth century, a
number of scientists have been warning that the present type, and levels, of development are
not sustainable.

Groundwater 1s an example of renewable resources. These resources are replenished by
nature as in the case of crops and plants. However, even these resources may be overused.
For example, 1n the case of groundwater, if we use more than what is being replenished by
rain then we would be overusing this resource.

Consequences of environmental degradation do not respect national or state boundaries; this
issue 15 no longer region or nation specific. Our future s linked together. Sustainability of
development is comparatively a new area of knowledge in which scientists, economists,
philosophers and other social scientists are working together.

36.1 What is sustainable development? 2
36.2 Write any two causes for environmental degradation. 1

36.3 The future generation may not have sufficient resources as compared to the present
generation because ------------------ .(choose any one from the following statements) 1

a. Resources are being used judiciously by the present generation.
b. Resources are being optimally used by the present generation
c. Resources are not used by the present generation.

d. Resources are being over used by the present generation which
will make them exhausted.

Section F (Map Skill -Based Questions )

37. (a) Two places A & B have been marked on the given map of India. Identify them with
the following information and write their correct names on the lines drawn near them.

A. The place associated with Jallian wala Bagh incident
B. The place associated with Indian National Congress Session 1927
37 (b) on the same locate and label any three of the following .
I.) Hirakud dam
ii) Laterite soil region in the west coast
iii) State known for Jute in India
iv)State known for coffee in India
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HTHT ﬁi‘QT / General Instructions:

Read the following instructions carefully and follow them:

1. This question paper contains 37 questions. All questions are compulsory.

2. Question paper is divided into six sections-Section A,B,C,D,E and F

3. Section A- question numberlto 20 are multiple choice questions. Each question carries 1
mark.

4. Section B- Question number 21 to 24 are Very Short Answer type questions. Each question
carries 2 marks. Answer to these questions should not exceed 40 words.

5. Section-C- question number 25 to 29 are Short Answer type questions. Each question carries
3 marks. Answer to these questions should not exceed 60 words.

6. Section D-question number 30 to 33 are Long Answer type questions. Each question carries 5
marks. Answer to these questions should not exceed 120 words.

7. Section E-question number34 to 36 are case-based/ Source based questions with three sub-
questions. Each question carries 4 marks

8. Section F- question number 37 is Map Skill based question with 37(i) History (2 marks) and
37(ii) Geography (3 marks). This question carries 5 marks.

9. Please write down the Serial Number of the question in the answer- book before attempting

it.
SECTION-A (Multiple choice Questions) (1x20=20 Marks)
1. From which of the following countries Giuseppe Garibaldi belonged to? (Imark)
(@) Austria (b) Italy © Greece (d) Spain
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2. Two Statements are given below. They are assertion (A) and Reason (R). Read both the statements

and choose the correct option. (Imark)
Assertion (A): The most serious source of nationalist tension in Europe after 1871 was Balkan.
Reason (R): A large part of the Balkan was under the control of Ottoman Empire.

(a) Both (A) and (R) are true and (R ) is the correct explanation of (A)

(b) Both (A) and (R ) are true but (R ) is not the correct explanation of (A)
(c) (A) istrue but (R) is false.

(d) (A) is false and (R) is true.

3. Arrange the following events in chorological order and chose the correct option from the

following: (Imark)
I. Treaty of Constantinople I1. Defeat of Napoleon

[11. Unification of Italy IV. Unification of Germany

@ 1L I, IVand Il () 1L, Htand IV () 1L, 11V and I (d) IV, I, [l and 11

4. Read the given statements and choose the correct option with regard to Rabi cropping season from
the following. (Imark)

1. Rabi crops are sown in winter.
2. Sown from October to December and harvested from April to June.

2. Important crops are Maize, Cotton and Jute.

4. Punjab, Haryana, Uttar Pradesh are important for the production of wheat.

(@ 1,3and 4 (b) 2,3 and 4 (c)1,2and 4 (d) 1,2,and 3.

5. Identify the soil with the help of the following information. (Imark)

e Itdevelops in area with high temperature.
e Itis the result of intense leaching due to heavy rain.

e Humus content is low.

(@) Arid Soil (b) Yellow Soil (c) Laterite Soil (d) Black Soil
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6. Which of the following term refers to the belief in and advocacy for the social, political and

economic equality of women? (Imark)
(a) Patriarchy (b) Matriarchy (c) Socialist (d) Feminists.
7. Match the Column I with Column 11 and choose the correct option; (Imark)
Column I (List) Column 11 (Jurisdiction Sphere)
I. Union list subjects A. State Governments alone make laws on it.
Il State list Subjects B. For uniformity Central Government Legislates on it.
I11. Concurrent Subjects C. Subjects under Jurisdiction of Centre and State
Governments.
IV. Residuary list D. Central government legislates on new subjects
I ] Il v

@ A B C D

(b) C D A B

(© D C B A

(d) B A C D
8. Which of the following was the primary objective of Belgium to form the separate government in
Brussels? (Imark)
(a) Promoting cultural events. (b) Managing international relations.
(c) Enforcing local laws (d) Ensuring Linguistic accommodation.

9. What roles do ‘checks and balances’ play in a democratic country? Choose the most suitable

option from the following (Imark)
(a) To establish a direct form of government without representatives.

(b) To create a separation of powers to prevent from authoritarianism.

© to prevent any change to the Constitution.

(d)To ensure absolute power for one branch of government.

10. Suppose, the monthly income of the family members is as follows respectively: (Imark)

Mother- Rs. 50,000/- Father- Rs. 40,000/- Son- Rs. 20,000/- Daughter- Rs. 20,000/-
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The average income of the family would be:

(@) Rs. 32,000/- (b) Rs. 30,000/- (c) 32,500/- (d) 33,000/-
11. Which one of the following is an example of organised sector activities? (Imark)
(a) A farmer irrigating his field (b) A handloom weaver working in her house.

© A headload worker carrying cement.  (d) A teacher taking classes in a government school

12. Which one was the reason for calling off ‘the Non-Cooperation Movement’ by Gandhi? (1mark)

(a) Pressure from the British Government (b) Second Round Table Conference.
© Chauri- Chaura incident (d) Gandhi’s arrest.
13. Arrange the following events in the correct sequence: (Imark)

1. Mahatma Gandhi returned to India from South Africa.
2. Congress gave the support to Khilafat movement.
3. Dandi March.

4. Mahatma Gandhi travelled to Champaran in Bihar to inspire the peasants to struggle against the

oppressive plantation system. (Imark)

(@14,23 (b) 2,3,4,1 (c)4,2,31 (d) 2,1,4,3

14. Assertion- Alluvial soil is ideal for growth of paddy, wheat, cereal and pulse crops.
Reason- Alluvial soil is well known for its capacity to hold moisture.

(a) Both assertion and reason are true and reason is the correct explanation of assertion.
(b) Both assertion and reason are true but reason is not the correct explanation of assertion.
(c) Assertion is true but reason is false.

(d) Assertion is false but reason is truet
15.Select correct prudential reason for power sharing (Imark)
(a) Power sharing is the very spirit of Democracy.

(b) People have a right to be consulted on how they are to be governed.
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© Citizens, through participation, acquire stake in the system.
(d)1t helps to reduce the possibility of conflict between social groups.
16. Identify the kind of administration system: (Imark)

It consist of two level government. One level of government, if for the whole country and another

for states, USA is known for the oldest country running this system successfully.
(@ Unitary (b) presidential government (c) Federal (d) None of these.
17. Assertion: India is a secular state.

Reason: Constitution gives freedom to everyone to profess, practice and propagate any religion

without prejudice or any discrimination. (Imark)

(a) Both assertion and reason are correct and reason is the correct explanation of assertion.
(b) Both assertion and reason are true but reason is not the correct explanation of assertion.
(c) Assertion is true but reason is wrong.

(d) Reason is true but assertion is wrong.
18. Which one of the following is not a developmental goal for the landless rural labourers? (1mark)
(a) Many days of work and better wages.
(b) Local school is able to provide quality education for their children.
© There is no social discrimination.

(d)They cannot become leaders in the village.

19. Which one of the following pairs is correctly matched? (Imark)
(a) Primary Sector- Money lender. (b) Secondary Sector- Priest
© Tertiary Sector- Bank (d) Manufacturing Sector- Gardener.
20. Which of the following statement is correct. (Imark)

(a) Service sector contributes more than half of the GDP of India.

(b) The scope of attracting tourists is limited as there is hardly any place of tourist attraction in

India.
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© As the economy grows, first service sector grows and then agriculture and industrial sector

grows.
(d)None of the above
SECTION -B (Very Short Answer Type Questions) (2x4=8 marks)
21. Suggest any two measures for the conservation of Forest. (2 marks)
OR

Suggest any two measures for the conservation of wild life.

22. Why is power sharing desirable? Explain. (2marks)
23 Differentiate between public sector and private sector. (2marks)
24. Briefly explain the idea of Satyagrah according to Gandhiji? (2marks)

SECTION-C (Short Answer type Questions)

(3x5=15 marks)

25. Describe the various step that are involved in planning? (3 marks)
26(a) Who designed the Swaraj flag? What were the features of Swaraj flag? (3 marks)
Or

(b) Mention any three efforts made by Gandhiji to get Harijans their rights.
27. Who was Count Camilo De Cavour? Mention his contribution in the unification of Italy?
(3 marks)
28 (a).What objections have been raised against multipurpose valley projects? Explain any three?
OR
(b) What are the factors responsible for the scarcity of water in India? (3 marks)
29. What were the Majoritarian measures taken in Srilanka to establish Sinhala supremacy?

(3 marks)
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SECTION-D (Long Answer Type Questions)
(5x4=20 marks)
30. (a) Explain the process of unification of Germany. (5 marks)
Or
(b) Explain the process of formation of ‘United Kingdom of Great Britain’.

31. Describe any five institutional and technological reforms introduced by the government in the
interest of farmers after independence. (5 marks)

32 (a). Describe any five steps taken by the Indian Government towards decentralisation of power in
1992. (5 marks)

Or
(b) What do you mean by federalism? How can you say that India is a federal country?

33. Tertiary sector is not playing any significant role in the development of Indian Economy’. Do

you agree with this statement? Give reason in support of your answer. (5 marks)
SECTION-E (CASE STUDY QUESTIONYS)
(4X3=12 Marks)
34. Read the given source and answer the questions that follow

This type of farming is still practiced in few pockets of India. Primitive subsistence agriculture is
practiced on small patches of land with the help of primitive tools like hoe, dao and digging sticks
and family/ community labour. This type of farming depends upon monsoon, natural fertility of soil

and suitability of other environmental conditions to the crops given.

The main feature of commercial farming is the use of higher doses of modern inputs,
e.g. High yield variety seeds, chemical fertilizers, insecticides and pesticides, in order to
obtain higher productivity. The degree of commercialisation of agriculture varies from one
region to another. For example, rice is a commercial crop in Haryana and Punjab but in Orissa it is a

subsistence crop.

Page 7 of 10



34. A. Subsistence farming use kind of tools for farming. (1 mark)
34. B. What does commercial farming use in order to obtain higher productivity? (1 mark)
34. C write down any two differences between subsistence farming and commercial farming.

(2 marks)
35. Read the given source and answer the questions that follow

Communalism was and will continue to be one of the major challenge to democracy in our country.
The makers of our constitution were aware of this challenge. That is why they choose the model of a
secular state. This choice was reflected in several constitutional provisions. There is no official

religion for the Indian state. Our constitution does not give any special status to any religion.

All societies have some form of division of labour. In most societies, occupations are passed on from
one generation to other. Caste system is an extreme form of this. Caste system is a class structure
which is determined by birth. Caste system was based on exclusion of and discrimination against the
outcaste groups. They were subject to the inhuman practice of untouchability. That’s why leaders
like Jotiba Phule, Gandhiji and B.R. Ambedkar advocated and worked to establish a society in which
caste inequalities are absent.

35. A What is the basic principle of secular state? (1 mark)
35. B. What do you mean by caste system? (1 mark)
35. C what was advocated by Mahatma Gandhi. (1 mark)

35. D Name any two social reformers that worked for the upliftment of untouchables. (1 mark)

36. .Read the given source and answer the questions that follow

A developed country is a highly industrial growth oriented country where quality of life is high,
presence of developed economy and advanced technology. While the developing countries are those
that are in either pre industrialization or in industrialization process. These economies are mostly
relies in agrarian form of economy and there per capita income is generally less than the others.
Another aspect of the developed countries are their highly dominating tertiary and Quaternary
Sector. While tertiary sector provides services such as entertainment, finance and retailers quaternary

sector comprises of knowledge based activities like of Information technology, research and
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development as well as areas of consulting services etc. There is no all-agreed definition of a
developed country.

Agencies such as the United Nations, the World Bank, the World Trade Organization, and the World
Economic Forum use their indicators to club developed and developing countries. For example, the

UN classifies countries into low, lower-middle, upper-middle, and high-income countries.

36. A) what do you understand by the term per capita income? (1 mark)
36. B) what is the most important attribute to compare development of the countries? (Imark)
36.c) Differentiate between development and growth? (2marks)

SECTION-F (Map Skill Based Questions)
(1x5=5 marks)

37 (a) Two places A and B have been marked on the given political outline map of India. Identify
with the help of the following information and write their correct names on the line drawn near them

(@) The place where Mahatma Gandhi broke the salt law

(b) The place where Session of Indian National Congress was held in 1927
(i) On the same outline map of India, locate and label any three of the following with suitable
symbols:
(i) Sundarbans National park
(i) Hirakud Dam
(i) Mark the soil which is good for the growth of cotton
(iv)  State largest producer of tea
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T fA29r/General Instructions:

1.The question paper comprises Six Sections - A, B, C, D, E and F. There are 37 questions in the
Question paper. All questions are compulsory
2. Section A-Questions from 1 to 20 are MCQs of 1 mark each.

3. Section B-Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 markseach.
Answer to each question should not exceed 60 words.

5. Section D-Question no. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

6. Section-E-Question no. 34 to 36 are case based questions with three sub questions and are of
4 marks each.

7. Section F-Question no. 37 is map based, carrying 5 marks.One mark for each correct
response.

8. There is no overall choice in the question paper. However, an internal choice has been granted
in few questions. Only one of the choices in such questions have to be attempted.

9. In addition to this, separate instructions are given with each section and question, wherever

necessary.
SECTION-A (1 x 20=20M)
1.What percentage of the population of Belgium lives in the Flemish region? (1)
a) 70% b) 80% c) 40% d) 59%
2. What is a coalition government? Q)
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a) Alliance of two or more parties b) alliance of different social groups c)power shared

among different organs of the government d) Power shared among different levels of the

government.

3. Which of the following is an example of holding together federation? 1)

a) India b) Spain c) Australia d) Both Spain and India

4. Rural local government is popularly known by the name of: 1)
a) Rural government b) District government c) Panchayati Raj d) block level

5. Which of the following state had the highest net attendance ratio in secondary stage 2013-14?

1)
a) Bihar b) Kerala c) Haryana d) Rajasthan
6. National Sample Survey Organization conducts the surveys on employment and
unemployment in every (1)

a) 6 years b) 5 years c) 10 years d) 7 years
7. Who believed that established, traditional institutions of state and society - like the monarchy,
the Church, social hierarchies, property, and the family - should be preserved? (1)
a) Conservatives b) Communalist c¢) Moderates d) Liberals
8. Why was Simon Commission sent to India in 19287 (1)
a) To meet revolutionary leaders  b) Looking into the functioning of Indian constitutional
system c¢) Persuading Gandhiji to attend the Round Table Conference  d) Framing new
Constitution for India

9. Which pact resolved the issue of separate electorates for Dalits between Gandhi and

Ambedkar in 19327 1)
a) Nagpur pact b) Surat pact c) Lucknow pact d) Poona pact
10. Which one of the following is not true regarding the Gandhi-Irwin Pact of 19317 1)

a) The British government agreed to grant independence
b) The British government agreed to release the political prisoners
c¢) Gandbhiji consented to participate in a Round Table Conference
d) Mahatma Gandhiji decided to call off the Civil Disobedience Movement
11.In which one of the following states is terrace cultivation practiced? ¢D)]
a) Punjab  b) Haryana c) Uttar Pradesh d) Uttarakhand
12. Which one of the following is not a major product directly obtained from the forests? 1)

Page 2 of 6



a) Timber wood and barks b) Firewood c) Fodder  d) Medicines
13. Bamboo drip irrigation system is prevalent in..... 1)

a) Madhya Pradesh b) Mizoram c¢) Manipur d) Meghalaya

14. Which one of the following is a rabi crop? 1)
a) Gram b) groundnut c)cotton d) rice
15, i, is the world’s largest producer of sugarcane. 1)

a) India b) USA «¢)Cuba d) Brazil
16. Assertion (A): The sum of production in the three sectors is the GDP of a country.
Reason (R): GDP in India is measured by a ministry in the central government. (1)
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Alistrue but R is false.
d) Ais false but R is true.

17. Match the following 1)
Column A Column B

(a) Rich in water resources (i)Water

(b) Cotton cultivation (i)Arunachal Predesh

(c) Sheet erosion (iii) organic matter

(d)soil formation (iv) black soil

a) (a)(iii), (b) - (i), (c) (iv), (d) - (ii) b) (a)(ii), (b)(iv), (c) - (i), (d) - (iii)

c) (a) (iv), (b)(ii) (c) (iii), (d) - (i) d) (a)(iii), (b)(iv) (c) - (i), (d) - (ii)

18. Only income is not the proper indicator of the development of the country. Which ofthe
following is not correct in the context of the above statement? 1)
a) Money cannot ensure a pollution-free environment for individuals

b) Some people earn more thanothers do

c) Money helps us buy only materialgoods and services

d) Money does not ensure respectand dignity for individuals
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19.Which of the following economic activity does not come under the primary sector? (1)

a) fishing  b) farming ) mining d) banking

20.Disguised unemployment means a situation where people are: 1)
a) unemployed b) employed but earning less salary c) seems to be employed but in
reality, not employed d) unemployed for a short period of time.

SECTION-B (2 x 4 =8M)

21.What do you mean by sexual division of labour? (2
22. What is the meaning of development? Explain the two aspects of development. 2
23. Define Napoleon’s civil code of 1804? (2)
24. Write down the features of the reserved forests. (2)

SECTION-C (3 x 5= 15M)
25. Describe any three steps taken by the government towards decentralization in the year 1992.
©)
26. Caste has not still disappeared from contemporary India. Explain the statement with suitable
arguments. 3)

27. Why does Kerala have a better human development ranking than Maharashtra in spite of

lower per capita income? (3)
28. How did the First World War create a new economic situation in India? (3)
29. What is primitive subsistence farming? Write any two features of it? 3)

SECTION-D (5 x 4 = 20M)
30. How is federal government better than a unitary government? Explain with examples of
Belgium and Sri Lanka. (5)

31. Describe any five provisions of National Rural Employment Guarantee Act 2005. 5)

32. How did Greek war of Independence mobilise nationalist feelings among the educated elite

across Europe? Explain. (5)
OR

Describe any five steps taken by the French Revolutionaries to create a sense of collective

identity among the French people.
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33. What is land degradation? Suggest any four steps to control land degradation? (5)
OR
What are the reasons for the rising importance of tertiary sector?
SECTION-E (4 x 3= 12M)
Question No. 34 to 36 are based on the given texts. Read the text carefully and answer the
guestions. The first two questions in each passage caries 1 mark each and the third
question carry 2 Mark each.

34. The exact balance of power between the central and the state government varies from one
federation to another. This balance depends mainly on the historical context in which the
federation was formed. There are two kinds of routes through which federations have been
formed. The first route involves independent States coming together on their own to form a
bigger unit so that by pooling sovereignty and retaining identity they can increase their security.
This type of coming together federations include the USA, Switzerland, and Australia. In this
first category of federations, all the constituent States usually have equal power and are strong
vis-a-vis the federal government. The second route is where a large country decides to divide its
power between the constituent States and the national government. India, Spain, and Belgium are

examples of this kind of holding together federations.

(). What determines the balance of power in a federation? (1)
(ii). In "holding together" federations, which level of government tends to be more powerful in
relation to the states? (1)
(iii). Provide examples of federations from each of the two routes and briefly explain the power
dynamics in each type of federation @)

35. The Independence Day Pledge, 26 January, 1930 'We believe that it is the inalienable right of
the Indian people, as of any other people, to have freedom and to enjoy the fruits of their toil and
have the necessities of life, so that they may have full opportunities of growth. We believe also
that if any government deprives a people of these rights and oppresses them, the people have a
further right to alter it or to abolish it. The British Government in India has not only deprived the

Indian people of their freedom but has based itself on the exploitation of the masses, and has
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ruined India economically, politically, culturally, and spiritually. We believe, therefore, that

India must sever the British connection and attain Purna Swaraj or Complete Independence’.

(1). Why was freedom considered an inalienable right of the Indian people? Q)
ii).Why was Purna Swaraj considered essential by the people of India? 1)
(iii).Explain the significance of the Lahore Session of Congress. (2)

36.Today, in western Rajasthan, sadly the practice of rooftop rainwater harvesting is on the
decline as plenty of water is available due to the perennial Indira Gandhi Canal, though some
houses still maintain the tankas since they do not like the taste of tap water. Fortunately, in many
parts of rural and urban India, rooftop rainwater harvesting is being successfully adapted to store
and conserve water. In Gendathur, a remote backward villagein Mysuru, Karnataka, villagers
have installed, in their household's rooftop, rainwaterharvesting system to meet their water
needs. Nearly 200 households have installed thissystem and the village has earned the rare
distinction of being rich in rainwater. Gendathur receives an annual precipitation of 1,000 mm,
and with 80 per cent of collection efficiencyand of about 10 fillings, every house can collect and
use about 50,000 liters of waterannually. From the 200 houses, the net amount of rainwater

harvested annually amounts to 1,00,000 liters.

(i). What caused the rooftop rainwater harvesting practice to decline in western Rajasthan? (1)
(if). Why do some homes in western Rajasthan continue to use tankas when tap water is readily
available? )
(iii) Give one example from rural India where rooftop rainwater harvesting has been successfully

implemented and how they have been benefited out of it. (2)

SECTION-F (1x5=5M)
37. On the outline map of India locate the following places.

(i) The place where Congress session was held in 1920. (@8]
(i1) The Place where Jallianwala bagh massacre took place (@8]
(iii) Rana Pratap Sagar dam (@D)]
(iv) Sardar Sarovar dam 1)
(v) Nagarjuna sagar (@8]
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